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- Set=X

(1) Requirement of basic necessities

(2) State of felt deprivatign :

(8) Desire to have somethljn.gﬁ

@ Allof the above . -
mﬁﬁsﬂmﬁqﬁwﬁammmé}
(1) GO STEaLEHdS B STERd

(2) wIgET T B T

(3) FB @ F /M

(4) Sugw @

‘Code-A
asistion Questions
1. | Who gave the concept of Marketing Myopia?
(1) ‘Abraham Maslow
(2) Peter Drucker
(8) Theodore Levitt
(4) Philip Kotler . b N L e ST SRR
| e e A s R A
(1) ST el @ 9 R
@) R aRE (@) MR PR
2. | Need is defined as :
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RQuestion $E8E O
No. 1 Questions

8. | Which of these is true about marketing?
(1) Marketing is used to promote the product and services
(2) Marketing is concerned about the sales only

(3) Marketing is the activity, set of institutions, and processes for creating,
cominunicating, delivering, and e\changmg offerings that have value

of customers, clients, pattems and soc1ety at large.

(4) Marketing considers only the needs of the organization and not the
soclety ‘

Rwom & R § Rrefofem § @ Sm-ar w32
(1) RO P AT SUE g dqet ® gae & R R S
@ RE daa foh ¥ gy @ oo

(@) RweF T TRy, demel B A a6, T BT, trgaﬁam
mﬁ%éﬁaﬁmzﬁm%vﬁm z’-laﬁﬁf H@mﬁww%m
s & ¥ @ B

@) ﬁ@ﬁ%aawﬁmswaﬁwmm%amwwﬁ

4. Strateglc Marketmg Planmng must begm W1th

(1) Short telm talgets (2) Goals

3) MlSSlOIl Statement - (4) ObJectwe
el RoR P @ e AR
(1) IFRIN SR & T (2) wﬁ%m

@) R HE S ET . () TS IR D T
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Code-A

Q“§Sﬁ°n Questions
o.

5. | Line Extension is a concept related with :

(1) Marketing Mix (2) Product Mix
(3) Promotion Mix (4) Media Mix
G TFERA S STgEReT FEEd §

Q) foor B @ 2 SOR fee @
3) wads e @ (4) i Bser &

6. | Which of the following describes "diversification"?
(1) New products in new markets

(2) New products in existing markets

(3) Existing products in an existing market

(4) * Existing products in new markets

R & @ e Rfdeer @ aren i
ORREE SRS E R

2 e IER 79 AR

@) fEm TR # fEAe S

@) T IO H e I

7. In Modern Times Marketing revolves around :
(1) Wants of the Consume1 (2) Needs of the Consumer
@) Products (&) Services

angﬁﬁmﬁﬁqvﬁsﬂ%aﬁ\mw% :
Q) wﬁﬁraﬁﬁmﬁ% : (2)3%6}%%&1@7&@%

"(3) m% @ et
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uesti : :
& No.on : i Questions

8. | Which of the followmg is 1ncluded in Digital Marketing?

(1) E-mail Marketmg L (2) Social Media Marketing

(8) Web Marketing (4) All of the above
| ﬁwﬁr@aﬁ%aﬁq—m%ﬁmqﬁmﬁaﬁqﬁﬂ%?
@ A m%ﬁw ; (2) A A AHET
@ ¥R . (4 v
9 W}IIO hae the I;lggest markets;hare 1nE Commerce" ' {
: -(1) i;ll‘pli.ax‘rém”,m (2) Google' B
® Ahbabe . @ Amen i
R T s‘-%mf st 9 el et 27
(1) Ferdart @ Tﬁr |
® s @ s

10. | 'Sklmmmg in marketmg is known as:

1) Promotmnal Strategy (2) Pricing Strategy

(3) Tactlcs N | o (4) None of the above
i%rqvﬁ ff ﬁ«q;m ﬁ 31? w9 7 o GTIHT R
(1) ezrsh wﬂﬁr (2) ™ FreiRer Torify

(3)3%'41 <4>3q§ﬁwéaﬁ
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e Code-A
Question Question
iy . Questlons
11. | How do you explain’Call Money?. ‘

(1) Itisan overmght loan in the Money Market
(2) TItisloan of above 1 day to 14 days in the money market PI
(3) Itisloan of above 14 day of 364 days in the money market’ L

rr

(4) Ttis an amount charged on ISD

| #ifn gg1 @ eren oy B R R

(1) 7% g1 9 # T #1390 2

@) 7 g A § 17 & 14 R 7 @ 99K @
(3). 7 T AR § 14 A @ 364 Bl 7% @ 9AW @
(4) 7@ o T@ & qT gAia T 8

12.

What will be the likely impact if Reserve Bank of Indié reduces at Bank
Rate?

(1) Less liquidity in the market

(2) More liquidity in the market

(3) No change in the market liquidity

(4) Mobilisation of more deposits by commercial banks
uﬁﬁaé%zsaﬁmzﬁmaaarqw*w ﬁmwﬁamwm?
(1) TR F FH TR

(2) INIK ¥ i TReH

(3) AR a<e F B GREe Tl

(4) IRF Jebi R SHH G B JET
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13.

What is the full form of CDSL?

(1) Central Depository Services Limited
(2) Cardinal Depository Services Limited
(3) Central Depository Securities Limited
(49 None of the above |

IR RCRSEIR S 2

1) s Rubrd i [ifes

2 %ﬁﬁamﬁaﬁ%ﬁ%ﬁ%@
® %a’a%ummﬁaaﬁ@%s
@ w7 ¥ 3 @ 0

14.

On which rate bases, overnight money is needed by bank from RBI?

(1) ‘Marginal Standing Facility (MSF) rate

(2) Repo rate

(38) Reverse repo rate

4) Bank rate:

Ree 3T e %, mﬁaﬁ%%ﬂw%mgmaﬁe{mmé?ﬁ%?
(1) GRS 1%1%11 gl (MSF) T,

(2) ﬁ o 32
6) m} W
@ ¥ W

gy

5
|
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Code-A
Question Questions Y
No.
15. | An attempt to gaining short term profit from the price difference or

movements of securities are called :

‘ (2) Speculation

(3) Hedging '_ .- (4) All of the above
W%WWWﬁW%WWWW%WW%
Q fEag @

(3) G S (4) I @R

(1) Investment o

16.

Method of tradmg 1n NSE s :

(1) Floor based Order dr1ven :

@) Screen based Code drlven‘ l‘

(3) Screen based Order d11ven‘ ;
(4) ‘Floor based Quote d11ven : i ’
o o § | MrARMY: .
(1) TEIRTE S-S w&a
© @ auRT-BE R
8) ' E ST~ wER

(4) TEIRYSA aﬂmﬁﬁ—mm 1{@1 IR

PRSI T T I RO S L

o 7 o

How do you, 1efer to the shares of well-established and financially sound

vl s Ny

compames 'with little 1nvestment risk and good history of earnings as :
(1) Alpha shares ‘l Ty (2) Blue clip shares
(3) Star stock - (4) Beta stock

Wrﬁaamﬁ?hqqﬁa%wwwﬁﬁt%mﬁ S M FraST SHfaw T STeTsi
%mﬁmaﬁ%ﬁaﬂuﬁmwwﬂﬁqﬁﬁ?

1) w aw g ‘(2) = R i
@ wRem T ) e e
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RQuestion
No.

Questions

18.

Curreny swnp is used for :
(1) Speculating in Forex
(2) Hedging against Forex risk

1 3 Maintaining bank balance

(4) RBImandate

R QY F 54 fha fig fear s @
(1) BRFF F-F&T T

(@) b F S A

() ST oS AREY. .. .

What'is the time period-for a'term loan to be classified as NPA?

19.
(1) 60days (2) 70days
(3 90days ' 7 (4 lyear
a7 97 a8 qUahid 9 § @ 98 O @ ¢ § i fpar St ¥7
a eoks @ T0R=
@ 9oRT b i @ 199

20. Insurance works on the pr1nc1ple of
(1) Sharmg of losses e '(2) Probabilities
(3) Large numbers 4) Al of the above
S fer W Enrr&f T 2 |
(1) @ @ R
(3) qel wesit ) G'Q’g?ﬁ Ty
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Quostion Quostions
No, :

oL

91. | What oxnetly do you moan whon you say "under ideal competition in the
product marko("?

(1) MRP=VMP (Valuo of Marginal Product)

(2) MRP>VMP

(8) VMP>MRP

(4) Nono of the above

arr 11 o qar o ok Y Sr ong e § I e i gl ofreaal
& afrla? | ‘

(1) MRP = VMP (G 3 & 1)

(2) MRP>VMP

(8) VMP>MRP

@) SR A B T

292. | What do you mean by the supply of goods?

(1) The actual production of the goods

(2) " Total stock in the warehouse

3) Stock available for sale. g

4) Qti'aintity of the goods offered for sale at a particular price per unit of
time

el @ oyl & A 27

(1) atgell @ TiaE ST

@ Tem § fd RE

@) RE & R ows ®iE

) nﬁmwwwﬁﬁwaﬁwwﬁgﬁ%ﬁmﬁam@aﬁqﬁw

" PHD/URS-EE-DEC-2022 (Commerce) Code-A. o 1v i i

©)

1



Set-X
Code-A
Q“g',so‘fm‘ Questions
23. | What is the meaning of the law of demand?

(1) As the price rises, the quantity demanded rises.

(2) As the supply rises, the demand rises.

(8) As the price rises, the quantity demanded falls.
(@) As the quantity demanded rises, the price rises.
A S P o o R0

1) S§ FT Toh & @ A R aE e 2

() W9 T S Al I Sl B

(8) W T T T @ AN A ged B

@ @ T T S ) A e ® A S ded B

24. | In the case of perfect elasticity, the demand curve is :
(1) Vertical (2) Horizontal
(3) Flat (4) Steep
QI SERR AT $ a0 7 9 il ©
) & (@) ARt
(3) = @) e S A
25. | Perfect competition is characterized by :

(1) large number of buyers and sellers
(2) homogeneous product

(3) free entry and exit of firms

(4) all of the above

oot SRR ) RS ®

(1) wHarel dur [eparel @ 991 W

(2) THEY IdA«

(3) Wl & Y AU qU R

@) STgw @l
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Code-A
Question Questiohs
No.
96. | The proportionate change in the quantity demanded of a commodity in

response to change in the price of another related commodity is called :
(1)  Price elasticity 2) Related elasticity
(83) Cross elasticity (4) Income elasticity

@aﬁqﬁwwwﬁmwﬁmﬁﬁmffqﬁaﬁﬂémgaﬂ
IR Re Fean §

(1) HHa A -(2) FEYT Al
@) o (4) & §=

217.

The short run production function is'called :

(1) Returns toscale

(2) Law of variable proportion

3) Producfion possibility frontier

(4) None of these

SRR S 6 PEar ¢ :

(1) T & g (2) RacHSNT STt &
(3) SR T WA (4) T A BE

28.

Whenever. " 'is greater than average total cost, average total cost
1S rising. : '

(1) Variablecost " (2) Marginall')cost

(8) Fixedcost - (4) Full cost

ST aﬁﬂaaﬁwﬁméﬁ%ﬁraﬂwwma@@ﬁ%l
(1) uRacd (2) WA TR

(3) Rex @@ ; 4) T A
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No.

r adoptlng skimmlng priCe

29.

i X n fo

Which one of the following 18 not a reaso

strategy? - .
latively inelastic

(1) When the demand of new product is re

(2) When there are no close substitutes

(3) Elasticity of demand is not known
he initial stage

o Bl T &t B7

(4) Product has high price elasticity in
Frfee & @ e, R e, T
o W@Waﬁwmawaaﬁwa?ﬁ%l

2 Wqﬁéﬁzﬁzwmﬂﬁml et T A

@ W e a w E
(4) mﬁ%aawﬁmﬁaﬁwﬁaﬁqa&ha@?ﬂ%

30.

Gkl il gy Pt eind

F unct1ona1 relat10nsh1p between 1nput and output known as:

oy Convers1on

@ Production funct1ovn” 1
(3) Work in progr'é“s’,; N
(4) Output function
W‘ﬁ‘h%ﬁﬂmwﬂﬁﬁwﬁww%:
@ 'R (@) SR W

@) T FE ; @ B s

|
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31.

If the commodities are substitute in nature, cross elasticity will be :

(1) Negative . (2) Positive
(3) Zero (4) Any of the above.
R qegell @ TR T A ¥ A o e dn

1) TS Q) TS
3) g @ v T3 AR

32.

‘Ina perfectly competitive market, individual firm :

(1) Can influence the price of its product
(2) Can fix the price of its product

(3) Can inﬂuenqe the market force

4) Cannot’ influence the price of its p"ro‘duc‘:t
ot SRR AT A @R -

(1) o SR B B B ARG F T &
@) T TR & A FeiRe # e @

(8) IR AREEl P TR FT A 8

(4) ST I P BT B T AE B bl

33.

In the case of unitary elastic dem'and, the shape of demand curve is :
(1) Verticalline ~ (2) Horizontalline

3) 'Rectangular hyperb.ola (4) Steep
mﬁaﬁamﬁ%w@ﬁaﬁa&nﬁ AT I HT SR el @

O wEEg @ (@) i e
(3)exrqamtaﬂ%1wau ~ (4)'fﬁamaenm
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Code-A
e Questions
34. | Total Revenue will be maximum at the point where Marginal Revenue is
(1) One +5.(2) Zero
B >1 iy <1
o w | ‘o
@ >1 @ <1 -
' - =
35. | Who developed the concept of Double Entry System?
(1) HenriFayol (2) Lucas Pacilio
(3) Henry Ford i13(4) Adam Smith
SIEq T JOMeH  STeRen-fhae R A . -
1) &0 HEa 2) g
@) O G (4) T R
36. | A company proposes to introduced a new product in the market. The
company wants to maintain P/V Ratio at 25%. If the Variable Cost of the
product is Rs. 300, what will be the selling price?
(1) Rs. 100 (2) Rs.200
(3) Rs. 300 (@) Rs. 400
%Wwﬁﬁﬁwﬁmwmﬁﬁm%m@:ﬁpwwﬁzs%
¢ TG T B 1 Af IS it aRaes @ 5. 300 8, a}m-qwqmm?
(1) %.100 (2) %.200
(3) %.300 (4) %.400

PHD/URS—EE—DEC—2022 (Commer ce) Code-A
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Ruestion

Questions

No.

317.

What is the objective of Environmental Accounting?

(1) Make true and reliable information

(2) Study and Analyse environment assessment, measurement and
control process

(3) Establish parameters to provide relevant information

(4) Reveal the degree of impact on the environment

TRl AGHT B FT IGad. 87

Q) "= aun R e S

@) TRl e, WO qen R Shhar & oTer . e

(3) RIS T S F & AFEUS i ST

(4) TR T I AT R

38.

As per Section 143 of Companies Act, 2013, the primary objective of Auditing
isto:

(1) Detect fraud and hold the responsible person

(2) Detect and prevent errors

(8) Detect and prevent frauds

(4) Report Financial Statements that give a true and fair view of the

state of the company's affairs.
mﬁa@rﬁwzmsaﬁwuﬁmmﬂmﬁw%
1) drEeS A TEEE BT a Saedl AR & Gede
@ R F G A T A
(3)  SETEEl P qCr T Ul ekl
(4) Rl Rereit @1 gfEed & S B B FE A Rafy @ wen qun fa
e TR #Xa &
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Code-A
uI%s(f.ion Questions

89. | The concept of separate entity is applicable to which of the following types
of business?
(1) Sole Proprietorship (2) Corporation
(3) - Partnership (4) All of them
ﬁﬁﬁmﬁﬁmw%m%mq%m#mmmaﬁ%?
1) THA @i (@ Fm ,

| @ wERm (4) ST w0

40. | What is the process through which; the legal existence of the company
comes to an end? il
Q). _Incorpdration (2) Liquidation 7
(3) Dissolution : (4) All of the above
asﬁ?—%ﬂm%ﬁﬂ%mm%m?ﬁwﬁmmwam%?
(1) THEEA (2) qua
@ REe 4 sEw w

" 41. | Who are paid last, in the order of payment by the liquidator?

(1) Preference shareholders (2) Unsecured creditors
(3) Equity shareholders (4) Debenture
P ERT FEF B T F & e o ¥ T R S 87
(1) wEiErR s (2) TG AT
3 qar St (4) T
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Qurt\!‘stiou Questions
o,

42. | When current ratio is 2:1 and if there is equal increase in current asset
and current liability then it will result in :

(1) Decrease in Current Ratio
(2) Increasein Current Ratio
(8) No Change

(4) None of the above

ma@m@mﬂ%waﬁwwﬁﬁwmwﬁmﬁmq@aﬁ%m
THHT RO BT

(1) =g e §

(2) =Y SgUd ¥ gRK
@) TRad &

@) ITE § A FE &

43. | Comparison of financial statements highlights the trend of the of]

the business.

(1) Financial position (2) Performance

(3) Profitability (4) All of the above

forr fRreolt @ el FEEE F e % TERT W TH ST 3 |
(1) faxg Rafa 2) s

(3) TTHETAHA 4) I9g<h wll
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Puesﬁon
No.

Questions

44,

ﬁwﬁﬁi@aﬁﬁqﬁﬂ—wﬁmﬁwﬁ%ﬁrﬁwwwmwﬁ%?

Which of the following is ot an objective of Analysis of Financial Statement?

(1) To judge the financial health of the firm
(2) To judge the short term and long term liquidity position of the firm

©))
4

To judge the reasons for thé change in the profitability of the firm -

To judge the variations in the accounting practices of the busmess

followed by different enterprises.

@ w%ﬁ?ﬁuwaﬁrwm
2 tﬁﬁﬁﬂﬁ%ﬁ?@a}mﬁwmﬁaﬁrmwm‘
3) ﬁﬁﬁﬁmﬁﬁm%mﬂwm;

@) ﬁﬁwwﬁmmﬁaw%é@mmﬁﬁﬁwﬁww

W |

45.

=

Under acquisition accounting fair value of asset will be the :-

(1) Best Price - (2) Sale value

(38) Cost paid for.asset , ... ,.(4) Marketvalue o

(1) e T o ol
2 forr q@

(3)  GHRT. I PRI I Tt A

(4) SN T
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Code-A
* Question Questions
No.
46. | Capitalis shown in Liability side of a Balance Sheet because of :

(1) Going concern concept

(2) Separate Legal Entity Concept

(3) Asperlaw

4 Nono- of the above

G & T Rred @ e o A ol R ST ¥ i g AT d
) g @@ed sE@een

(2) 9uF i SR ewemen o

@) it wEeE % g

(@) IEE A BT

47.

Whlch of the followmg assumptions are made while calculating marginal

cost?

1

('1)‘ Total ﬁxed cost is constant at all levels of ¢ output 7

(2) Total var1able cost va11es acc01 ding to the yolume ot‘ output

(3) All elements of cost can be d1v1ded into fixed and variable components
(4) Allof the above . |
@qﬁmzﬁwmwﬁwﬁmﬁ%ﬁﬁ-ﬁwﬁwm%?
(1)m%qu?ﬁmamamﬁaﬁhwﬂ%

@) gaqﬁaﬁwaﬂawwmaﬁw%mwﬁaﬁﬁéeﬁ%

3) W%Wﬁm@fﬁwwqﬁaﬁaﬁawﬁﬁwmw%

'(4) Wﬂ?ﬁﬂ‘*ﬂ

‘‘‘‘‘‘
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“Nov | e Que:tini/
48. | The term 'Contribution' refers to the—
(1) Excess of selling price over variable cost

(2) Difference between the selling price and

per unit

total cost

_(3) Subscription towards raising capital
(4) None of the above
‘FME T AT BT R ceeerrenneee ]
@) iﬁmg@wqﬁm%qu !
@ O g B Fre e
@ ST AR

[ Hﬁsﬁﬂéqﬁaéﬂaﬂawa%aﬁwﬁﬂ%ﬂﬂ@mm

49. | All agreements are contracts if they are made by the :
(1) frée consent of parties competent tb contract

(2) ~ for alawful consideration and with a lawful object
3) are not hereby expressly d'eclared to'be void

.(45 all of these gl 2 ik
‘H’ﬁaﬂﬂ'ﬂﬁﬁm@%%qﬁa mﬁ,—?xqﬁ%l
) mmmmﬁmm
(2) %mﬁmaﬁrsﬂ%mw%mmgﬁé

@) ﬁmw%aé:ﬁﬁaqm@a
& sﬁaw

il |
§ i A

pHD/UR S_EE_DEc_zozz (Commerce) Code A
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No.

uestion Questions:

50. | How a partnership firm can be established?
(1) By Agreement

(2) By registration by statute

(38) Both (1) and (2)

(4) None of these

o wR o A i A o ¥

1) FER EN T

@ R A ot d e a

@ @@ ehai iy
@ FERARET g

I

(1) Only by Vt‘l_le order of cou1t ‘;

(2) On the ‘dé;ath of shal;eholder

(8) On the death of-proﬁloter

(4) All of these

eI e BT R R o e ¥
(1) 399 T $ ORI F

(2) ST GG T

(3) Yaad @ gg W

@ F T

51. | Dissolution of a public company can be done by ¢

PHD/URS-EE-DEC-2022 (Commerce) Code-A
hei(21)




' Code-p
1”
u§s°t'ion Questions
52. | India has chosen ........c.. model of dual GST-
1) UsA (2) China
(8 UK (4) Canadian
IR & A S TH A F covvvnnnees Atewt g &
(1) gua g (2 =
@ AP (4) FST s |

53. | Restricting competition isa: i RS
. El)u I}nf;n” trade practlce i
('2) Monopollstlc trade practlce‘
(é) I?estrlctlve trade practice gt
(4) V None of theNabove

(1) SRR MR =EER (@) THREHH AR SRR
(3)  uRERIT ANR FEER (4 SUgE A A BIE A

VVh1ch of the followmg goods are taxed under Goods and Services Tax

54.
(GST), I’ﬁdla? Ay
(1) CNG W e RS oy “Liquor
(8) Petvol "' (4) None of the above
w%wqaéaraﬂ@sn%mhﬁmﬁﬁqaﬁéﬁqzﬁaﬁaﬁww
AT S
@ @Sk o o 2)
BT i dniere sy e o(8) G‘Ei?ﬁﬁ%iﬁs‘qé’r
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No.l 7 Questions
56. | The Negotiable Instruments Act, 1881 is an Act to define and amend the

law relating to : L
(2) bills of exchange
(3) promissory notes (4) all of the above

TR facie s, 1881sﬂﬁwﬁraaasr1ﬁa?rqﬁmﬁamammﬁma
T | TP ©

(1) cheques

| (8) The Banking Regulation Act;1949..

O ¥ @. ﬁrﬁwﬁm .
@ qsr @ aqghﬁ mﬁ ;
56. | Ina Promlssory N ote, how many partles are 1nvolved"
(1) One ' (2) 'I\avo o s iy
(8) »Three s wainnik (4) Four i
EENREE ﬁ ﬁv_clef W ﬂé @ﬁ %? I G S A Nt i
W Fordor 2 ¢ @4
@) @ (4) T e
57. | A 'Cheque is a Bills of Exchange and has been deﬁned unde1 :
A »(1) The:Negotiable Instruments Act 1881+

(2) The Reserve Bank of India Act, 1934

(4): All ofthe above’ - i

S wﬁﬁamwﬂﬁﬁmﬁwwﬁﬁéﬁ%

(1) T e sffEe, 1881 1
@), Rord S off gfeam sfafm, 1934
® :-;rrm ﬁ'q'q';f axmﬁqq 194“9
N acrgl?ﬁ H‘*ﬂ

| i ) )
e e e Vinesal wnelenr
i ,\;\\_-“n- fryi |

.

Wl li il A
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n§s:.ion
658. | The RTI application is addressed to A e
(1) Chief Minister of the respective St9l.te
(2) Prime Minister of India i
3 Presidént of India
(4) Public Information Officer
AR & ST T ..o a@maﬁwﬁ%l
@ Wﬁaﬁw%g@q—,ﬁ (z)sm?r%q
(O T gy vy G A e
59. | Who can file an RTI? b gt
1) Only Indlan Natlonals (2) Only Foreign Nationals
(3 Both()and(@ (4 Noneoftheabove
AT & &g EB‘H aﬁ%ﬁf < el %?
() A T RS fﬂ (2) A AR IR
(3) (1) ﬁ?lT (2) aﬁr (4) gqgfﬁ ﬁ i}l zﬁé T-I'Eﬁ
60. Patent can be granted for :
1) Process | L
@ Ideas Al e (0 VRN ks
(3) Both product and process WA S
4 Product |
¥ g R o HER"IT 2.
L Y

(3) S e Sfe AR (4) S
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61.

The values of extreme items do not influence the average for
(1) Mean (2) Mode
(8) Median (4) None of the above

Q) WH . Ess (2) RENET
(3) wiita®r ‘ (4)aq§?ﬁﬁaaa§=r€r

62.

‘Ina negatlvely skewed dlStI‘lbU.thIl

1) Mean>Mode>Median™" O Mode>Med1an>Mean
3) Mean>Med1an>Mode (4) Mode>Median>Mean
TF RIS &9 § R faw ff N AR

1) Hea > qge > W (@) agw>mi%qasr>mw
(@) WA > WiEE > qgEE () TGEE > A > e

63.

| their marrlage The coefficient of couelatlon at that pomt of time will be :

The Coefﬁcient of Correlation betweeh the_ ages“:gf" Hhsbandand Wife at
the time of marriage for a’given set of 100 couples was noted to be 0.6.

Assume: that all these couples: survwe ,to celebrate the sﬂver Jubﬂee of

(1) willremain unchanged (2) will increase , deppatEad
(3) willdecrease . (4) none of the above

100@@%@@@WWW%WWWW®61@%W
Wﬂgﬁﬁ%ﬂWlWW%ﬁmﬂﬁ%mWﬁwm
Wﬁ%ﬁﬂlﬁﬁﬁﬁﬁ?l:{ﬂﬂ’ﬂﬂﬂ%ﬂ@ﬂw |

n’ @ =

| L e SRIBIR) (D [ (8)

(3) =M e <4>Wﬁ%ﬁ%ﬂﬁ
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1esti e = '
NIQ. OXy R . Que\‘s“:t‘lons ’
: probability i8 zero?

64. | What is the name of the event for which the
(2) Random even

(1) Impossible event
4) Mutual exclusive events

(8) Exhaustive events

I T A § v e g O &7

(1) SRE~E ge (9) agfesd T

® wrtww ) TR e e
65. | Which of the followmg isnot a type of non-plobablhty samphng" :

(1) Quota samphng ' e n

@) Convemence samphng

(3) Snowba]l samphng _

(4), Stratified random samphng e

| ﬁwﬁ@aﬁﬁﬁq—wﬁrmﬁmﬁa&hm@maﬁ%

D, e Mg @ gﬁmﬁmﬁ oot

@) Fhaw fedg. () wﬁa !Irgi%w ﬁ'crsﬁ
66. | In what type of research, the 1esea1che1 usually uses facts or mfmmatlon

already available? i ‘

(1) Analytical =~ - (2) Descriptive e

(3) Applied » et ""(4) Distinctive ( '

| B s & srger 3, WWW %ﬁﬁwwavﬁawww

ST X 87

(1) RsaToTeTs @) E'WW

0 o e T P

PHD/URS—EE—-DEC—2022 (Commerce) Code; -A »
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67.

Which of the following are non-parametric statistics?

(a) t-test :

() F-test: ; i "

(¢) Spearman's 1ank order conelatmn

(d) Mann-Whitney-Wilcoxon test iy

(e) Kendall Coefficient of Concordance

Choose the correct answer from the option given below :
(1) a,bandconly (2) b cand d only

(3) "b,d and e only | 4) cd and e only

T -8 -y gl ¥
@ A-TdEe
(b) 'I“ﬁ-q‘ﬁa{w
© WW%WW& i
(d) In:{_%e;ﬁ ﬁaw qﬁm Hjly.ri'.-‘;.;\"-:
(e) %Eﬁf cod FITR‘—%EI?IT W i b W i, s
3 R T Rt ¥ & e o A W

(1) @ 4 b Al o (2)%aabcaard'
‘(3)%?{Fibdﬁ9ﬂe @ ¥ cddme

68.

Report are often used to dlsplay the result of :
@) Experlment ©7, .1 (2 Investigation

(3) Inquiry , © (4) All of these

fraé o WMWWW%WWM%
1) A BT 2) 8Ty
@ @, (4)@?1?5@1

'PHDIURS-EE—DEC—2022 (Commerce) Code-A
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“IsIsot.jm1 Questions i
69. | Skewness of Normal distribution is : ‘
(1) Negative (2) Positive
B - Zevo (4) Undefined
(1) T @) T
3 {FI (4) SR
70. The correlation for the values of two variables moving in the same direction
is:
(1) Perféct positive (2 Negative
: (3) Pos1t1ve _ (4) No correlation
‘ Wﬁ?ﬂﬁﬂﬁqﬂ@ﬁaﬁ%qﬁﬁﬂmﬂ@ﬂ%
(1) Tf e (2) ?EW R
@ T ’ @ i dew
71. | If the assumed hypothesis is tested for rejection considering is to be true

is'called :

(1) -Null Hypothe51s (2) Statistical Hypothesis

3 . Simple Hypothes1s (4) Composite Hypothesis

qﬁﬁﬂﬁwmmﬁwa@wm?fngﬁmm%mmm

%ﬁ%%ﬁﬂfﬂ% . s
(1) 9. R (2) E g ce—

(3) HTEHT"TQﬁEWFﬂ " '(4)&%@@

R TS B AR IR

%
i
e

’PHD/URS—EE—DEC—2022 (Commerce) Code-A

(28)



Set-X

Code-A
u]%sg.ion o Questions
72. | Type 1 err<‘)‘r ‘cl>c<f.}1:rs when :
(1) We rsject H Jif it is True |
(2) We 1eJect H,ifit is False . i,
3) We acceptH if it is True . . \ e B
(4) We accept H ifit is False‘é_:"’ _ R , gk

TRY 1R T AN E I

| EH@WW%@%W@
(2) &1 H, & @R & ¢ R 98 96 @
3) & H,® WeR #d § IR 98 7 @

(4) & H,$ @R & ¥ AR 9 o &

73. | Which ofthe following is not a function of Reserve Bank of India?

(1) Creation of Credit 2) Credit Control

(3) Monetaly Policy (4) Issue of Currency Note

ﬁwﬁ@ﬁﬁ%ﬁ?—wwmﬁmmwm?&%?

1w e @ w9 PEem

(3 #w AR 4 Esmvﬁgmamﬁvhﬁ‘
74. The first Reglonal Ru1 al Bank was estabhshed in the yea1

| 1 1991 R e (2) 1980 iy s

@ 1975 @) 1982

qmashumvﬂwﬁaszﬁwmsﬁaﬁgieh “

D). 1991 (2) 1980 . i

(3 1975 . (4) 1982

PHD/URS—EE—DEC—2022 (Commerce) Code-A
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75.

Real Time Gross Settlement (RTGS) is management by :

(1) Reserve Bank of India

(2) Indian Bank Association
(8) Government of India
(4) State Bank ofIndia

Jad <9 39 Jedi< (RTGS)

(1) 9RdE Red %

(2) R % THRTEE
(8) HRA B

@) AR Ve 9%

B e T B

76.

In order to control credit :

(1) CRRshould be increased and Bank Rate should be decreased
(2) - CRR should be decreased and Bank Rate should be decreased

il-
L |

(3) CRRand Bank Rate shouldbe increased

(4) CRR should be decreased and Bank Rate should be increased

() @ R T T ST AR e 35 X e o
(@) %ﬁmaﬂwﬁma@uamiﬁﬁﬂaﬂzﬁwml
3) ﬁmmawﬁiﬁﬂa@rﬁaﬁaﬁm "
(4) mmmmwmm%amma@ﬁi i

R

ey e T
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77. | Currency SWﬁp is a method of : A
(1) hedgmg agamst foreign exchange risk
@) speculatmg in foreign exchange ," '

(3) leverage instruments used by cooperatives banks "'
4 payment in international tra;de g
Esi:#ﬁ AT & ﬁ?ﬁﬁ B i

) B i e % Frew @ a7

@ R ﬁﬁm % wedaeh A

3) ?ﬁsﬁﬂiT I B 9 S cnﬁﬁrﬁh a%

@) SIS R, A A B

78. | Major suppliers of trading'instruments in capital markets are :

(1) 1Liquid Corporatlons
(@) Instrumental Corporatlons i

4‘.“:

3) Manufacturmg Corpmatlons "

4) Government and’ Co1p01at10ns R - B

Goft ST 2R S A S Sy ® -
4 TR ST Clmpnest e

”,PHD/URS_EE_DEC—2022 (Commerce) Code-A |
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fferent market is

79.

. " : 1 urns ln dl
Taking profit from difforonces in prices or ret

called :

(1) Two-sided sales
(2) Take advantage of situation

(8) TFuture of protection against financial loss

(4) Arbitrage
WWﬁMT&TW@ﬁW@WWW%
1) fa-wim fom

(2) TRRafY 1 @ e

(3) Frfta aifr & Rrow ol gwr

M)

4) GTﬂ'{q"T"f

80.

Securlty and Exchange Board of India (SEBI) was establlshed in the

RO T RGOS QR L (A L HEE T 7 R R fifve

yea1 :
(1) 1980 2) 1988
(91982 % " LA @) 1992

T | I |

ARt G G e € (SEBI) &t e @ av ¥
(1) 1980 - | (2) 1988

(3) 1982 | (4) 1992

.‘l

i

i
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81.

The full form of NSDL in Economic Dictionary is :
Q) National Securities Depository Limited

(2) National Share Depository Limited

(3) National Securities Development Limited

(49) National Sharé Development Limited

S sy § NSDL @ gt o1e9 . :

W) Ao REERds Rufed Rfes
(@) W PR RBUREd fes
® AT R B Rts
@wmwwwmm

e I A et

82.

Which of the following is not the -feature of Indian Capital Market?
(1) Governmentrules and:regulations

(2) Utilizes intermediaries & . "

(3) Linkbetween saver and investment opportunities

(4) Co-promotes state'level venture funds

Foreafeaer & & A= T ot e ) o R T8 37

(2) wWemdl A Garel F IR B ¥

(3) aaam’rqaﬁ%{aramﬁ%éﬁm

@wmmﬁwmﬁwmww%

1
Ii

l

; Ax
3 I;
il
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88, | Cash flow statemont considers following parameters :

(1 Operating activitios (©) Tinancing pctivities

@) Investing activitios () All of the above

o e R iR moedl o RER FE ¢

Q) SR TRRRE (o) R R

@ Ny R @) I ol

o 7]
e

Dividends per share divided by em‘ﬁing per share
(1) Earning per share ratio (2) Proposed dividend ratio
(8) Dividend p‘xyout ratio (4) Expected dividend ratio
Srl?fwrammﬁnﬁemmﬁmiﬁrm%

(1) Siq SISt ST STy (@) SR T ST

(3) T YFIAH STIUR (4) SR A ST

is termed as :

85. | Quick Ratio is also known as:

(1) Current Ratio | (2) Ac1d test Rat1§ i
(3) Cash Ratio o (4) Solvency Ratlo ‘
aﬁﬁaﬂmﬁﬁmwﬁ%ﬁmwo.

(1) =g STgwd (2) 9T qﬂ&m wgw
(8) T argqm (4) N & ST

. PHDIURS~ED—-DDC-2022 (Commerce) Code-A
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86. | Profit margin is measureq by :
(1) Operating efficiency
(2) Asset use efficiency
(3) Financial policy
(4) Dividend policy
| T A1 o R
) WREmE v a0 (2) @Ry ST e BN
@) Rl 9y = (4) g iy ax
817.

The process of planning and managing a firm's long-term investments is
called :

(1) Capital Structuring

(2) Capital Rationing

(3) Capital Budgeting

(4) Working Capital Management =~

w5 & 3 AR FRST B R o T A e s S
(1) ol "

(@) ol SR

@ Ff e

@) FRd G s

=PHD/IJRS‘EE_DEC—2022 (Commerce) Code-A
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Q“ﬁfg‘“‘ QuM
hat makes all the economic

88. | The Country of North Korea has & dictator t

decisions. What type of economy is this :

(1) Traditional (2) Command

(8) Market (4) Centrally Planned
Wﬁﬁmﬁtﬁwng%a}wmﬁvham%%mmﬁ AT
87

(1) YT () 7 HAOS .

(3 TR (@) a0 9

89. | Which of the following is not the part of privatisation routes?
Q) Lease

(2) Management employee buy-out

(3) Concessions

4) Liberalisation

Srfefad §  BiF-ar R & AT A T S

(1) v

(2) S R B G

(3) Rame

(4) SETUHTT

?HD/UR&EE-—DEC—2022 (Commerce) Code-A
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S A SRt
90.

Which of the following is not the part of fiscal policy?
(1) Taxation

(2) Public Borrowing

(3) Forced Savings

(4) Open Market Operation

Fefiem & & B o ARy @ o T8 37

L TR (2 uESh ®e

(3) I T (4) g3 IO B B

91. | Which of the following is not true about Corporate Social Responsibility

which is about commitment by business to behave ethically and contribute
to?

(1) Political awareness, social security and inclusion
(2) Public health, education and literacy
(3) Maintaining ecological balances and protecting environment

(4) Rendering, sponsoring and donaﬁing to social and charitable activities.
RrRifad § @ SF-ar e G STe o Jeedl a) RE w9
FET HTT T TN B B el ¥ wEhd ©, B g § 99 T80

(1) e STTedRT, AT G e e

(2) W wre, RET qe qe

(3) URReRmEE g B S T A R S

@ R e e TR & SR, TR HE T A B
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92.

s o9
' umping:
Which of the following ia/are the 79/ T

@ Sporadic duTP"E

(1) Predatory dumping :
(4) Allof the above

(8) Persistent dumping
ﬁqﬁmﬁﬁ%ﬁﬁ-ﬂ/@rgﬁdﬂaﬁrﬁm%? 157
) iR st oy PoEgE ST
e S (VL ik

93.

Ptk 4 $i P SO b B ation?
Who propose the concept of International Trade Organis

& St ana Wit "
R s T

3) A Marshal

4 Adam Smith

1) S A e e e v e

@) S &eT '

(3) T AR

(4) Twgafma

o
i
i
H 1
i il

I !

Fla g o RE

';PHD/URS;'EE;DE'CL'20'22"‘(Cdni"‘fﬁ'iii;é‘e)“(jb ERTNG
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\

94.

Questions
——

In foreign trade, an adyerge balance of trade means :
(1) Import exceeds exportg

(2) Export 18 equal to import
(3) Export exceeds import

(4) None of the above
ﬁ%@wﬁ,ﬁqﬂawwmm%:
@) o FafT @ o ay &

o) ﬁaiaamemmwaﬁ%

3 ﬁahm@rama?r%

@) ST T B T

95.

Which of the following is a form of FDI?
(1) establishmenta wholly new operation

(2) acquiringan existing firm

(3) merging with an existing firm

(4) all of the above

Frfifed & @ -0 0 € o & & 9 {2
(1) 5 g T A e A

@ @ BEEH @ R o

() U fEmH & @Y ey s

(4) ITgw adl
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QEBSEtOBE © T e sy

96.

What is the full form of ASEAN?

(1) Association of South East Asian Nations

(2). Administration of Southern East Asian Nations
(8) Organisation of South East Asian Nations

(4) Administration of South East Asian N ations
RN (ASEAN) % 3o 1&g 1 &7

(1) AR i wo de TR

() ERFRIN ofF & S e A

(38) SR it Troy S R T

(4) TEMReT ot ey $e e A9

97.

Which of the following is the correct full form of NAFTA?
(1) North American Free Trade Agreement

(2) National Federation on Free Trade Agreement

(3) National Free Trade Association

(4) None of the above.

i A & #I9-81 e (NAFTA) & T sre 37

(1) T oARe W 35 ot \

) %sm%s%sﬁaaﬁsﬁrﬁggrmﬁ:@ £

(8) M9 TS THIROE

@ A & 9
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98.

TRIMS stands for :

(1) Trade Related Income Measure
(2) Trade Related Investment Measure
(8) ' Trans National Investment and Monetary System

(4) Trade Restrictions on Investment, Measures
IS (TRIMS) 91 e 3

1) 33 RIS T o

@ 3 RS shwdw dw

@ %smtrr sv‘c‘lﬁﬁ? TS HHed Ried

@ = ?ﬁ@t&m eiT:r sﬁeﬁ? ﬁrvm‘

99.

The Term Dumping refers to ;"

(1) Reducing tariffs ™ ' b

(2) Salé' of goOdswéBroad at a lower price, below their cost and price in
theid* home market

3 Boying goods .at .low pﬁces abroad and selling at higher prices locally

4) Expenswe goods se]hng for low prices

SfdT o= gﬁa F 8

M srgﬁﬁf B F amr

@) m@ﬁﬁﬁ%&ﬁﬁﬁﬂ%ﬁﬁﬂfﬁﬂ%ﬁﬂi@ﬂﬂﬁﬁﬁmww

Fw A
(3) Wﬁﬁﬁ%ﬁﬁﬁwwwaﬂwwwﬁuw&mmwm

;CP,HD/U
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Q“gs:m“ Questions P
- : de barrier?
nl 4 ! n-tarlff 'Fl'a
100. | InInternational Trade which of the following1s @ a9
(1) Quotas (2) Importbans
. . alaws
(3) Export controls (4) Anta dumpm.g e &7 WEpder
RIS T & Freriate 3 & F-ar TG A beaieeots
Q) P | (2) o FEE
| @ i P (), TSR AT
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Questions

How do you explain Call Money?

(1) Itis an overnight loan in the Money Market

(2) Itisloan ofabove 1 day to'14 days in the money market
(8) Itisloan of above 14 day of 364 days in'the money market
(4) Itisanamountcharged on ISD

HAT G B AR A9 B TR B

(1) ¥& & IR ¥ [ H IR §

2 78 901 IO F 1R9 § 14 R 7% & suw D

(3) 7@ a1 IR H 14 R § 364 R 76 91 4R R

(4) 78 o T 3§ W WG R

What will be the likely impact if Reserve Bank of India reduces at Bank
Rate? A '

(1) Less liquidity in the niarkét

(2) More liquidity in the market

3) No change in the market liquidity

(4) Mobilisation of more deposnts by commerclal banks
qﬁﬁﬁé%‘maﬁmsﬁm%ﬂﬁwﬂm%amwﬁamw@m
(1) ¥R & FA T

(2) VR ¥ e T

(3) R T ¥ i R T

@) R Y6 g oe FAd B e
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3.

@ mﬂ?ﬁﬁ%aﬁéﬂa

What is the full form of CDSL?
(1) Central Depository Services Limited

(2) Cardinal Depository Serv1ces Limited
(3) Central Depos1tory Securities Limited -
(4) None of the above_ |

SERGRCEIR GBS

(1) A Rufred W fies

(@) FiEw Rufred wts ffes

@ g RubEh ReRds RfRe

‘On which rate bases, overnight money is needed by bank from RBI?

(1) Marginal Standing Facility (MSF) rate
(2) Repo rate

(3) Reverse repo rate

4) Bankrate
Red X STE mﬁmﬁﬁ%ﬂm%mgﬁﬁmmaﬁ%?
(1) =it R g MSF) T

@ WX o

3) Raﬁ&rat

1w Bx

PHD/URS—EE—DEC—2022 (Commeree) Code-B
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5.

An attempt to gaining short term profit from the price difference or
movements of securities are called : :

(1) Investment (2) Speculation

(3) Hedging (4) All of the above
W%wwwﬁw%mﬁmmmﬁmmm%
Q) fRa @) e

(3) G T (4) Sugh qd

Method of trading in NSE is :

(1) Floor based - Order driven

(2) Screen Based - Code driven

(8) Screen based - Order driven

(4) Floor based - Quote driven
UEs AR Ry

(1) IEIRYSH SMERA-STRY - FAferd

(2) @O MURA-HIS Heaferd

(3) ®hI STHRT-SMRY Henferd

(4) IORYSH SMRT-IFYT qed ARG

How do you refer to the shares of well-established and financially sound
companies, with little investment risk and good history of earnings as :

(1) Alpha shares (2) Blue clip shares
(3) Star stock (4) Beta stock

et e Rt ghte & e el & sidt, S @ Pe e dun s
b o8 3R A ¢ @ oM e R deRlg B

(1) TEH 3 | 2) < fow sig
(@) ®R €% : @) @ e

PHD/URS-EE-DEC-2022 (C-ommerce) Code-B
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Questions
/

8.

Curreny swap is used for :

(1) Speculating in Forex

(2) Hedging against Forex risk

(3 Maintaining bank balance

(4) RBImandate

B @Y H T R g o ST %

(1) BREd ¥ G T |
@) BRew Sfed & o g a5 A
@ ¥ ¥w T WA

@) o @ om Ry

What is the time period for a term loan to be classified as NPA?

(1) 60days (2) 70days

(3) 90days (4) lyear

R O T 9E G T 2 oW 90 o 0 ¢ ¥ i e o &7
(1) 60fT - @) T0RA

3 90RH @ 19

10,

Insurance works vor; the principle of : _
) Probabilities-

(4) All of the above

(1) Sharing of losses

(3) Large numbers

i 29 R W a3 & E
| (1) eiEr @ Fear (2) fdemarait
| @ W s () gH T

PHD/URS—EE—DEC -2022 (Commerce) Code-B
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11.

(2) uESG @R, R a aER

Which of the following is not true about Corporate Social Responsibility

which is about commitment by busihess to behave ethically and contribute
to?

(1) Political awareness, social security and inclusion
(2) Public health, education and literacy
(3) Maintaining ecological balances and protecting environment

(4) Rendering, sponsoring and donating to social and charitable activities
Frefefed & @ -1 Wi ol swele St et s X &7 @
FIER B T TG B 1 Aisar € grea 8, 3 Rwg ¥ @ 98 ¥
(1) MR STRTo%, wmwamwﬁaﬁ

(3) URRefEE agaA & S & o TEfEReT ST
(4) e T e TR ¥ aREE, WRR S A B

12.

Which of the following is/are the type/s of Dumping?

(1) Predatorydumping  (2) Sporadic dumping |
(& Persistent dumping * - (4 ATl of the above
Frfofed & & SF-a1/8 sPdT #1/3 TR §?

(1) Sriquie s (2) foege st
(3),ﬁw3iﬁ71_ B (OB v

PHD/URS—EE—DEC 2022 (Commerce) Code-B
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. isation?
18. | Who propose the concept of International Trade Organisail

(1) John Maynard Keynes and White

(2) John Kaiser

(3 A.Marshal

(@) AdamSmith

RIS SR &e @) SEeRen R S H?
@) S S @ q @Ee (2) S K

(3) ©. wIsd 4) A Ry

14. | In foreign trade, an adverse balance of trade means :
(1) Import'exceeds exports

(2) Export ié équal to import

(3) Export exceeds import o

4) Noné of the above
ﬁ%gﬂmﬁ,ﬁqﬂawawmaé%:

(1) o Pl & ot A ¥

(2 Frafa e S TR AN

(@ Pl o A o 8 ¥

@ IEE T A

PHD/URS-EE-DEC-2022 (Commerce) Code-B .
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“ﬁ:‘” Questions

15. | Which of the following is a form of FDI?

(1) establishment a wholly new operation

(2) acquiring an existing firm

(3) merging with an existing firm

(4) all of the above

Frefefes & & B0 O q o A o w9 A
(1) T T T G @ F

(2) T fEmE o # s w

(3) & o % & WY g S

@ e

16. | What is the full form of ASEAN?

(1) As'épciation of South East Asiaﬁ Naﬁons

2 Administx;ation of Southern East Asian Nations »

3) Orga;xisétion of South East Asian Nations

(4) Administration of South East Asian Nations
R (ASEAN) &1 °f sreq a1 87

M qmﬁmﬁ I T $ R W

(2) TSR % T $6 R W

(3) AR 3% T $e R J9

(4) TRFRI ol oY $& TR

PHD/URS-EE-DEC-2022 (commem(:_‘e)) Code-B
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* 17. Which of the following is the correct full: form.of NAFTA?
l (1) North American Free Trade Agreement
; | (2) National Federation on Free Trade Agreement
5 3 National Free Trade Association
(4) None. of the above | ;
e F @ AF-ar T (NAFTA) & PF e 87
@ A B I A e
3 Ao B S wRmEE
@ S A B
1 L.& ) TRIMS stands for :

‘(1)° Trade Related Income Measure:
(2) Trade Related Investment Measure

-(3) TransNational Investment and Mometafy System

(4) Trade Restrictions on Investment, Measures.
R (TRIMS) @ ard ¥ :

M 33 RS TR

@ 35 RiEs g

@ ziE Yo e ws 3ed R

@) T3 W AT g o

PHD/URS-EE-DEC-2022 (Commerce) Code-B:
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Q“;s:i“ ~ Questions

19.| The Term Dumping refers to :

(1) Reducing tariffs

(2) Sale of goods abroad at a lower price, ‘be_low their cost and price in

iy e

their home market

3) Buying goods at low brices abroad and selling at higher prices locally
(4) Expensive goods selhng for low prices

sPT o= 3ﬁﬁ Al %

1) srg?rﬁ @r B HA

®) a@aﬁﬁﬁﬁaﬁﬁm#ﬂqﬁwﬁaﬁﬁhﬁqwﬁmmwm
A

(3) ﬁﬁﬁﬁ%&ﬁ%wmwaﬂmmwﬁawaﬁ%ﬁm
(4) W& aegell A FH BT W T

20. | InInternational Trade which of the following is a non-tériff trade barrier?

(1) Quotas 2) Tmportbans

3). Export controls (4) Anti dumping laws
m@umﬁmﬁmﬁamﬂw@mwm
1) @ @) S s

@) Pl P () T

PHD/URS-EE-DEC-2022 (Commerc(:ge)) CodefB
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Code-B
Quﬁs:fo Questions .
91. | If the assumed hypothesis is tested for rejeétion considering is to be true
is called : -
(1) Null Hypothesis (2) Statistical Hypothesia
3 SimpléHypothesis (4) Composite Hypothesis
mmwmmmwmmgﬂmm%mmW
¥ A 78 e € |
1) g TR (2) iR TR
(3) TR YREIAT 4) Tfd@ o
Type 1 error occurs when :

1) We re]ectH if it is True
@ We reject H, if it is False

3) We accept H, if it is True

4) We acceptH if it is False
Esqlgl%aaa?ﬁ%aa |

(1) aquaﬁTa@wm%qﬁaswa
@) EHoﬂWm%qﬁ%ma
3) @Hoﬁeﬂwmﬁ%aﬁ%wé‘r
@ mHoﬁzzﬂwm%uﬁasma

PHD/URS-EE-DEC-2022 (Commerce) Code-B - |
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23. | Which of the following is not a function of Reserve Bank of India?
(1) Creation of Credit (2) Credit Control
(8) Monetary Policy (4) Issue of Currency Note
Frfefed & § A-a1 9RdE Rod 9% @1 & P T2 R
Q) g FE @) @ fE=T
(3) A i @) et gan @ e
24. | The first Regional Rural Bank was established in the year:
(1) 1991 .. (2 1980
@) 1975 @) 1982
o &l gndier I @ T 39 Ay g3 o
(1) 1991 (2) 1980
3 1975 (4) 1982
25.

Real Time Gross Settlement (RTGS) is management by : -
(1) Reserve Bank of India '

(2) Indian Bank Association

(8) Government of India

(4)  State Bank of India .
WE@WW(RTGS)WW&HW%:

@ T RE @ T i i
(3) WRA WER (4) TRAT W §%

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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In order to control credit :

(1) CRR should be increased and Bank Rate should be decreased

(2) CRR should be decreased and Bank Rate should be decreased

(3) CRR and Bank Rate should be increased

| (4) CRR should be decreased and Bank Rate should be increased

mﬁaaﬂr%m:.

(1) & AR AR e T ARy g ¥ o gl S el
@) & X AR T T =Ry qur ¥ & el S ARl
(@) & AR AR T I X Tl I =Ae |

(@) W SR AR T ST SRy % & SeE o AR

27.

Currency Swap is é method of : |

(1) hedging against foreign exchange risk

(2) speculatingin forelgn exchange

(3) leverage instruments used by cooperauves banks
(4) payment ininternational trade

F @ & ffy B

1) R R Afgw & s I8 79 A

@ PR R & geent @

@) TeHd Pt g g Tl ITHCN B

(4) SIS e § e @l

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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u;::)tji o Ql@étions |

28. | Major suppliers of trading inotruolents in capital markets are :

@) RFmER F

(1) Liquid Corporations

(2) Instrumental Corporations

(830 Manufacturing Corporations

(4) Government and Corporatlons

o A 3 2R o B s s 3 ¢
(1) T« fm

2 SuHTiE fFrm

) H‘(EER'H?JTﬁTW

29.

Taking profit from differences in prices or returns in different market is
called: |

(1) Two-sided sales

(2) Take advantage of situation

(3) Future of protection against financial loss

()] Arb1trage
ﬁmmﬁmwmﬁm%wmm%:

(1) fa-weig fom

(2) Rl @ S IS

@) e afr & e A ge
(4) SR

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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No. £ Questions —
) was established in the

30. | Security and Exchange Board of India (SEBI

year :
(1) 1980 (2) 1988
(3) 1982 (4) 1992

TR gRen od R 1€ (SEBI) # O B a9 ©
(1) 1980 @) 1988

(3 1982 (4) 1992

=y cam

31. | Dissolution of a public company can be done by :
(1) Only by the order of court

(2) On the death of shareholder

(3) On the death of promoter
(4) All of these

At A R [ o W S
(1) 3ad TEE & AR &R |

(2) SfwErd # TG W

(3) e @ I W

@ FHAT

PHD/URS-EE-DEC-2022 (Commerce) Code R o
(14




Set-X

Code-B
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©1.32. | India has chosen ............. model of dual GST.
| (1) USA (2) China
3) UK (4) Canadian
TAAIR AT A H .o, Afed I 2|
1) g T @ 9
@ 1% (4) FrET
33. | Restricting competition is a :
(1) Unfair trade practice
(2) Monopolistic trade practice
(3)' Restrictive trade practice
(4) None of the above
yfcreagt 9X A T BN B
(1) SR &ANR @&aeR (2) THRFER R HGeR
@) S TR R (4) I F F B T
34.

Which of the followmg goods are taxed under Goods and Services Tax
(GST), Ind1a‘7

(1) CNG " (2) Liquor
(3) Petrol (4) None of the above

W%W@WW(GST)%Whﬁﬂﬁmﬁﬁm—ma@aﬁwm
T S 27

O dEH 2) N
@ ¥a T @ IS AR

PHDIURS—EE—DEC—2022 (Commerce) Code-B
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ﬁ:t_mn A Questions

35.

The Negotiable Instruments Act, 1881 is an Act to define and amend the

law relating to :
(2) bills of exchange

(8) promissory notes (4) all of the above

W RRe sk, ISSIEQW%WﬂWW%WHm

FA G T © -
1) =% (@ fatma Re

() T o | (4) Igw IR

Ina Promissory Note, how many parties are involved?

(2) Two

(4) Four

g o § R TR g3 8 87

1 @ @ Q

@ @ IR

A 'Cheque' is a Bills of Exchange and has been defined under :

(1) cheques

36.

(1) One

37.
(1) The Negotiable Instruments Act, 1881

(2) The Reserve Bank of India Act, 1934°
(B) The Banking Regulation Act, 1949

(4) All of the above
qrq & fsmeT s # e am= dgenfa A & ®

(1) = faee ffEE, 1881
2 ford 3 oife §far afafam, 1934
(3) I Frame IfdfRm, 1949

@) Sugw @

PHD/URS—EE—DEC—2022 (Commerce) Code-B
: (16)
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38.

The RTI application is addressed to

(1) Chief Minister of the respective state
(2) Prime Minister of India

(8) President of India

(4) Public Information Officer

AR & oM TR .. S IR B SR R

() =T T % qertl  (2) WA B g

@) WRA & U (4) T ga e
39. | Who can file an RTI? |

(1) Only Indian Nationals (2) Only Foreign Nationals

(3) Both (1) and (2) (4) None of the above

AR & o B AT P qeball 87

(1) %A ARAE AR 2) Faq fsh RS

(3 (1) T (2) 4 9w ¥ 3% T
40. | Patent can be granted for :

(1) Process

2 Ideaé ,

(3) Both product and process

(4) Product

ey R S HeT B

1) e @ 2) foemi @
(3) IqE T UREA A B (4) SAR B

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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41.

If the commodities are substitute in nature, cross elasticity will be :
(1) Negative (2) Positive

@) Zero (4) Any of the above

AR FEgell i gy @ & ¥ A ot A ol

(1) TS (2) "D

@) = @) Sugw 7 § F T

42,

In a perfectly competitive market, individual firm :
(1) Can influence the price of its product

(2) Can fix the price of its product

(3) Can influence the market force

(4) Cannot influence the price of its product
ol gREM S 3 aReT

(1) 97 ST H HET B AT BT FBA &

(2) AW IR FH Haa MR H e ®

(8) IR wftwdl H Tefad HT el B

(4) YA IR F AT B GHIAT T H T

43.

In the case of unitary elastic demand, the shape of demand curve is :
(1) Vertical line (2) Horizontal line
(8) Rectangular hyperbola (4) Steep

| st B o o B AT A% a9, W o d S

() A X (2) AR X
(8) EAEHR AT (4) da e

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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44, | Total Revenue wﬂl be maximum at the point where Marginal Revenue is :
(1) One (2) Zero
® >1 @ <1
T A 34 g R oHm & e e e ¥
O @ @ 9
3 >1 4 <1
45. | Who developed the concept of Double Entry System?
(1) Henri Fayol (2) Lucas Pacilio
(3) Henry Ford - - (4) Adam Smith
el e JUreil RO e s i
1) &0 %A 2) gHa AR
@ FT&E (4) Ten Ry
46. | A corﬁﬁany proposes .to introduced a new product in the market. The
company wants to maintain P/V Ratio at 25%. If the Variable Cost of the
product is Rs. 300, what will be the selling price?
(1) Rs.100 = (2 Rs.200 |
(3): Rs. 300 (4) Rs.400
@mﬁ?wﬁwaﬁmaﬁaﬁwmﬁwﬁ%lmprmzs%
wmmﬁ%mﬁwaﬁqﬁaﬁmﬁaws 300 §, ﬁrﬁmwwm?
()7 BL0071 o e aliE(2) 5,200
|| @ w0 @) %.400

PHD/URS—EE—DEC—2022 (Commerce) Code-B
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47. | What is the objective of Environmental Accounting?

(1) Make true and reliable information

(2) Study and Analyse environment assessment, measurement anq

control process
(3) Establish parameters to provide relevant 1nformat.10n
(4) Reveal the degree of impact on the environment
wieReli Q@i & @ SR 87
(1) w=h T Regea gEar s
(2 vEERf g, WWWWWWWW
(8) uER® o USH & S AMEUS R B
(4) WEERYT W g¥E H AET THS BT

' As per Section 143 of Companies Act, 2013, the primary objective of Auditing

K 55) Detect and prevent errors

@

is to:
(1) Detect fraud and hold the responsible person

(3) Detect and prevent frauds
Report Financial Statements that give a true and fair view of the

state of the company's affairs.
mﬁmﬁwzowaﬁwmﬁmmwmm%
(1) HraEE # I B T Sl AR B IEEE
@ FRA & T T U A6
(3) erErESl P A Al Al AH
(@) Rdg REwl @ gfEe 3 o F & w7 o Rafy & e P

ReR segd #4 @

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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49. | The concept of separate ent1ty is applicable to which of the following types
of business?
(1) Sole Propr1etorsh1p (2) Corporation ' f
(3) Partnership (4) Allofthem - =
mﬁmﬁﬁﬁﬁw%wﬁr%mqwmﬁmmwm%
(1) e i (@ fm |
3) R (@ SO w

50. | What is the process through which, the legal existence of the company !
comes to an end?
(1) Incorporation (2) Liquidation
(8) Dissolution (4) All of the above
asﬁﬁ-mm%m%w%maﬁrﬁmmmam%?
(1) A C (2 W
(3 fmeT S @ e W

51. | What exactly do you mean when you say "under ideal competltlon in the
product market"?
(1) MRP=VMP (Value of Margmal Product)
(2) MRP>VMP
(3) VMP>MRP ‘
(4). None of the above i3 ~
wﬁmwwﬁmm%wmm% “wwﬁmm
(1) MRP =VMP (mma wa asr 1@)
(2) MRP>VMP
(3) VMP>MRP

B 4 g A B

PHD/URS—EE~DEC—2022 (Commerce) Code-B
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(1) 99 FiFd Tedl & af G T AET Tedt # 1

Set-x
Code-B
Quﬁs:.ion - Questi:i_'s——,—-f—’_—f_"f iy
- —
52. | What do you mean by the supply of goods?
(1) The actual production of the goods
(2) Total stock in the warehouse
(8) Stock available for sale
(4) Quantity of the goods offered for sale at a particular price per unit of
time ; e
Tegelt @ oyl @ v SRmE &7
(1) agg3Al 1 arsiias SR
(2) TR ¥ o ®e
@ Re % R v @
4) nﬁmwwwﬁmmwhﬁ%gmma@aﬁﬁw
53. | What is the meaning of the law of demand?

(1) As the price rises, the quantity demanded rises.
(2) As the supply rises, the demand rises.
(3) As the price rises, the quantity demanded falls.

(4) As the quantity demanded i‘ises, the price rises.

(2 o« gff Fedt 8 @ AT Tl B
(3) o HAT Fgal & AN T AEr e ¥

(@) o A0 T AT A A A ¥ A A e 3
' -

PHD/URS-EE-D2C-2022 (Commerce) Code-B
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54.

In the case of perfect elasticity, the demand curve is :
(1) Vertical (2) Horizontal

(3) Flat (4) Steep

ol SRR A aw A am A

1) T @) &fwr

3) U (4) e B it

55.

~(3) T @ T Jaq e

Perfect competition is characterized by :
(1) large number of buyers and sellers
(2) homogeneous product

(3) free entry and exit of firms

(4) all of the above

oo SR 1 R ®

(1) el o fasharell @ 991 d@e

(2) ST AR

4) I9gw ol

56.

The proportionate change in the quantity demanded of a commodity in
response to change in the price of another related commodity is called : -
(1) Price elasticity (2) Related elasticity
(8) Cross elasticity (4) Income elasticity

@waﬁwwwﬁmwﬁaﬁmaﬁmﬁm%mw
T GREc Fea &

(1) 9a d (2) =i
(3) SRl A= (4) 9T A=

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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67. | The short run production function is’} called :

(1) Returns to scale

(2) Law of variable proportion

(3) Production possibility frontier
(4) None of these

ATHIAT SR BT Hearl §
1) ¥ 3 s

@ uRadwsid SRt & FE

(3) SURH TEE |

58.

@ T | P T
Whenever is greater than average total cost, average to£a1 cost
is rising.
13+ Sasinklesost (2) Marginal cost

| (3 Fixed cost (4) Full cost

[ S 3 Fo AP A A B ¥ A ol B e 9% @ A )

(1) wﬁaﬁjsﬁa‘ W (2) @ A
® Rax @ (@ o

PHD/URS-EE-DEC-2022 (Commerce) Code-B

(24)



B | ' , _ S_et-X

-}Code—B

Questio
No.

Questions

69.

Which one of the following is not a reason for adopting skimming price
strategy?

(1) When the demand of new préduct is relatively inelastié
(2) When there are no close substitutes

(8) Elasticity of demand 1s not known .

(4) Product has high price elasticity in the initial stage
Fricifed & & H-a1 Reb Ha TR SIEM B FR 7E 7
(1) @ T IR B A w Y R A 2

2) 9 HE Fehe WG~ Sqae T8 |

(8) I &l e S & A

(4) URPHS IER § IR H S BT @I okl §

60.

L_

Functional relationship between input and output known as :

(1) Conversion

(2) Production function

(3) Work in progress

4) Output function

AFM-fFrin & W FEieE TR B 3H ©9 X T S ©
(1) &K (2) I T

(3) g B . (9 o e

PHD/URS-EE-DEC-2022 (Commerce) Code-B
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61. | Who are paid last, in the order of paymenﬁ by the liquidator?
(1) Preference shareholders (2) Unsecured creditors
(3) Equity shareholders 4) Debe_nturti o
RITe &T T By ST & 9 B e o § g R ST 27
(1) YR S 2) FgfEa dTEr |
(3) HAT AT @) Fo
62. | When current ratio is 2:1 and if there is equal increase in current asset

and current liability then it will result in :
(1) Decrease in Current Ratio

(2) Increase in Current Patio

(3) No Change

(4) None of the above

ma@@mz:l%wqﬁa@wﬁﬁwa@mﬁaﬁﬁw’qﬁ;aﬁ%ﬁ
Zge TR B -

(1) =g oge q FH

@) =Ry U 7 g
(3) ®3 aRacd el

@) Sugh d q B T
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63. | Comparison of financial statements highlights the trend of the of
the business.
(1) Financial position (2) Performance
(8) Profitability \ - (4) All of the above -
foxi el i go T FaEE B .. %l Sgfl W ST STl 2 |
(1) R Ry @ Frome
(3) TR ~ (4) Swdw a4
64.

Which of the following is not an objective of Analysis of Financial Statement?

(1) Tojudge the financial health of the firm
2 | To judge the short term and long term liquidity position of the firm
(3) To judge the reasons for the change in the profitability of the firm

(4) To judge the variations in the accounting practices of the business

followed by different enterprises.
Frefefaa & @ Pm-a1 g el & Ry & 0@ SR T R0
1) o @ R e g B
@) wH & EHRIT T§ STeTHN qiear R H GRFiET B
@) i % avEEE & RN & BROT A TR

@) R ST grT gERd FaaE $ AEiwT AdeRl H ATl B geie
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65:

_ Under acquisition accounting fair value of asset will be the::
(1) Best Price (2) Saié value

' (3 Cost paid. for asset (4) Market value

W%mwﬁma@mﬁawm
@ BT

| @ R g @
@ TR g

BEFL =

Capital is shown in Liability side of a Balance Sheet because of :

(1) Going concern concept

. (2) Separate Legal Entity Concept

i (B) Asperlaw

| (@) 'None of the above
ool B onfe Rred & aifter w9t ok R s ¥ i sw wer ¥ -
(1) O FTEE STqEROm : '
(2) 9g% e AR STErRReN

@) Rfte gaaEr & FgER

@) Sugw T q HE T
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67. | Which of the following assumptions are made while calculating marginal

cost?

(1) Total fixed cost is constant at all levels of output
(2) Total variable cost varies according to the volume of output

(3) All elements of cost can be divided into fixed and variable components

(4) All of the above

AT AT B TR B AR § @ Al e T e 2
(1) ST & 9% & ® ReR qr aRarta e &

() F WM T S B AT F AR Ak O 2

3) AP % & e B Rew qor WRadmsia geat f dfer o1 G &
@ Sug ael

68.

The term 'Contribution' refers to the
(1) Excess of selling price over variable cost ﬁer unit

(2) Difference between the selling price and total cost 1

(3) Subscription towards raising capital |

(4) None of the above

‘ST % SR BRATE o | :

(1) uRY 3R R A @ A0 R g @ e @
©2) frpa To @ W @G § 7 SRR

3) Yot e & g S

4) SEF T FE T
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69. | All agreements are contracts if they are made bSr the :
(1) free consent of parties competent to contract
(2) foralawful consideration and with a lawful object

(3) are not hereby expressly declared to be void

(4) all of these

alt orgery Wiear A AR L a Rl S E
(1) wREr N A e @ A qen
@%Wm@w%mmﬁ%mﬁm%m”
@) st @ &y = A T B 1 e

@ ¥ & w0

70. | How a partnership firm can be established?
(1) By Agreement

(2) By registration by statute

(3) Both (1) and (2)

(4) None of these

o wEE w Y Wi A T A 87
(1) wEdER
@ﬁmmﬁm%mﬂ

(3) (1) & (2) 2t

@) T & P T
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71.

The values of extreme items do not influence the average for .
(1) Mean (2) Mode
(8) Median (4) None of the above

(1 == (2) 9ETH
(3) e (4) I9gE A A T

72.

In a negatively skewed distribution :

(1) Mean>Mode>Median (2) Mode>Median>Mean
(8) Mean>Median>Mode (4) Mode>Median>Mean
Td RS @9 9 v e |

(1) " > 9gad > WeAw  (2) Tgah > HiAH > qA
@) e > AfeAE > @Ew  (4) TGk > e > A

73.

The Coefficient of Correlation between the ages of Husband and Wife at
the time of marriage for a given set of 100 couples was noted to be 0.6.
Assume that all these couples survive to celebrate the silver jubilee of
their marriage. The coefficient of correlation at that point of time will be :| .
(1) wil re"main unchanged  (2) willincrease

3) will deérease (4) none of the above
100@%-@@@Www%wqﬁrwqﬁﬁa%m%m
e e 0.6 WA T | A e B 3 @l A9 o e A TR STl

qﬂﬁﬁsmaﬁﬁﬁﬁ?f%lwwwwram:

(1) orafRafiic & (2) @M
9 @3) T (4) ST § q 3 T
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74. | What is the name of the event for which the probability is zero?
(1) Impossible event (2) Random even

(3) Exhaustive events (4) Mutual exclusive events

T TS H A AW 2 e miear o 87

1) @ ge (2) AgBH T
(® Yt gerd (4) WER AqESl e

75. | Which of the following is not a type of non-probability sampling?
(1) Quota sampling

(2) Convenience sampling

(3) Snowball sampling

(4) Stratified random sampling

ﬁwﬁi@aﬁﬁaﬁq—mﬂ?—uﬁwﬁa&hwqwmaﬁ%?

(1) et FrsH (2 R Frs= _

(3 e P (@) @R arghes Frat

76. | In what type of research, the researcher usually uses facts or information

already available?
(1) Analytical (2) Descriptive
(3) Appled (4) Distinctive
mw%a{w«mﬁ,wﬂmmz%ﬁﬁma@mwﬂ
AT YT 87
(1) RGeS Q) Rt

() AT (4) R
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77. | Which of the following are non-parametric statistics?

(@) t-test

(b) F-test

(c) Spearman's rank order correlation
d) Mann-Whitney-Wilcoxonv test |
(e) Kendall Coefficient of Concordance

Choose the correct answer from the option given below :

(1) a,bandconly (2) b,candd only
(3) b,dand e only (4) c,dand e only
i 3 -8 R-ymfie wleor ¥

(a) <I-gdteror

(b) TH-Te

) TWEAT & FfE F Ty
(d) AF-fege-faaamra qem
(€) WS H qHEU TN

78.

L

A9 Ry T Reed § @ T oW @ 99 v

(1) %9d a, b T ¢ (2) %ad b, ¢ T d

(3) @ b, d T e (4) a0 ¢, d T e
Report are often used to display the result of :

(1) Experiment (2) Investigation

(3) Inquiry (4) All of these :
Raié sra: i @ oo Rem & R sy &t
1) @ @&

(3) g (4) I a
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79. | Skewness of Normal distribution is :

(1) Negative (2) Positive

3) Zero (4) Undefined

s fReRer @ R g §

(1) TS (2) YT

@ ¥ (4) SR
80. | The correlation for the values of two varfables moving in the same direction

is : :

(1) Perfect positive (2) Negative

(8) Positive (49) No correlation

o R A TR AT @ @ A B A B e o €

(1) T S (2) FOUHAS

(3) I (4) ¥ gewEY T
81. | Who gave the concept of Marketing Myopia?

| (1) Abraham Maslow

(2) Peter Drucker

(3) Theodore Levitt

(4) Philip Kotler

R AR @) S R 7

(1) e A @ e F
3) PRRER dfde (4) fEfrq Hleat
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82.

Need is defined as :
(1) Requirement of basic necessities

(2) State of felt deprivation

(8) Desire to have something
(4) All of the above

AL B 56 &Y F o R o e @ |
(1) T STERERdiel @ TeRd (2) TyYd 9 @ ge
@ PWAHRFTW (4 IFGF a9

83.

L

Which of these is true about marketing?
(1) Marketing is used to promote the product and services
(2) Marketing is concerned about the sales only

(3) Marketing is the activity, set of institutions, and processes for
creating, communicating, delivering, and exchanging offerings that

have value of customers, clients, patterns and society at large.

(4) Marketing considers only the needs of the organization and not the

society

e & fava & frfafed § @ $-w1 99 87

(1) FUvF & 99T SdE g q9ret & d98T & fow e st @

@) RUE daa foEn @ T @ 8

3) W%wﬁﬁm,ﬁwﬁwwwm,wm,ww
| Al @ Qo B B R § Sl e, S, asert qur e & R
| mmﬁwﬁ%|

(4) RO Fac TS B AATHEAA F AN TG & q T B TG
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84. | Strategic Marketing Planning must begin with : |
(1) Short term targets (2) Goals
(8) Mission Statement (4) Objective
iR R Rt & gRe @ e
) o R 3 WY () W @
@) Feet o & & (4) TS SR B T
85. | Line Extension is a concept related with : |
(1) Marketing Mix (2) Product Mix
. (3) Promotion Mix (45 Media Mix
- | () forgem s & @ IR e |
3). Hads frsr | (4) A P @

Which of the following describes "diversification"?
(1) New products in new markets

(2) New produc.ts in existing markets

3 Existiﬁg products in an existing market

(4) Existing products in new markets

A § @ a9-a Rider @ are i 87

() T et A T e

9 REme SERE T SER
(3) Rere aoR ¥ REme IR
(@) T IR F (A S
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87. | In Modern Times Marketing revolves around :

(1) Wants of the Consumer (2) Needs of the Consumer

(3) Products | | (4) Services
g o B R S o o g §
1) ST TA D (2) o A o 3
8) TER & (4) BareTt &
88. | Which of the following is included in Digital Marketing?
(1) E-mail Marketing (2) Social Media Marketing
(3 Web Marketing (4) Allof the above
P 3 & e Ritreq MR § ahaRm 37
(1) $dw TR @ @y A R
(3) ¥ TR @ 3w ah
89.. | 'Who e th biggest mssicet aHare o P-Oommerne?
(1) Flipkart (@) Coogle 5
(3) Alibaba (4) Amazon
e T $-d AT 9 i el 27
1) R , @) T
(3) T C(4) ST
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.90. 'Skimming' in marketing is known as ;

(1) Promotional Strategy (2) Pricing Strategy

(3) Tactics (4) None of the_above
oo | ‘%ﬁfﬁﬂ’ﬁwmﬁmm%:
(1) e O | (2) Fea FERe oI

@) Fhed (4)3qgﬁif%€ﬁ€=ﬁﬁ

91. | The full form of NSDL in Economic Dictionary 18 :
~ (1) National Securities Depository Limited

(2) National Share Depository Limited

3) National Securities Development Limited

(4) National Share Development Limited

o s § NSDL & T o & -

) Ao ReRde Rl fafres

@ A3 Fa Rkl fafics

@) A Rerdids 3T SILES

@) g daX T e
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92.

Which of the following is not the feature of Indian Capital Market?
(1) Government rules and regulations

(2) Utilizes intermediaries '

(3) Link between saver and investment oppbrtunities

(4) Co-promotes state level venture funds

Prefefed & & G- wdha oh AR ) o R T ¥

(1) wewr FEw @ fatem

(2) weEEd @ Jarelt B ITT B &

(3) TEdawal T8 AN STEEl & S Sl

(4) I WA SR B H FE-ER F 8

93.

Cash flow statement considers following parameters :
(1) Operating activities " (2) Financing activities
(3) Investing activities (4) All of the above
T vare faxer Frfiied qoeest W RER ST

(1) e RRE () R aRRRE
@) MRy TR (4) Sg® @i

94.

Dividends pér shafe divided by earning per share is teijmed as: -
(1) Earning per share ratio (2) Proposed dividend i‘atio

(3) Dividend payout ratio (4) Expected dividend ratio
xri%fammﬂa?rm%rammﬁﬂmﬁm%:

(1) iy i S ST (2) WA AL STgu

(3) @A I STIAId (4) SR QAL ST
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95. | Quick Ratio is also knownas:

(1) Current Ratio @ Acid-test Ratio
(8) CashRatio (4) Solvency Ratio
ART S A g6 & F R T A
(1) =g I (2) ot T ST
(3) T TP (4) it g ST

96.

Profit margin is measured by :

(1) Operating efficiency (2) Asset use efficiency

(3) Financial policy (4) Dividend policy
1 e 1 s R
(1) SRE”H A &R @) i ST & E

(3) foig it @ @) g A @

97.

The ‘process of planning and managing a firm’s long-term investments is
called :

(1) Capital Structuring

(2) Capital Rationing

(3) Capital Budgeting

(4) Working Capital Management

o it & A Fe & FrivF w S B i dead @

(1) o A @) Poft argur

@) @) i o
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o] Qi

decisions. What type of economy is this :

OOLTRLS /r

(1) Traditional (2) Command ...l - 1/
(3) Market (4) Centrally Planned’
witef it 3 & AT ¥ S weh onfie Rt Q4T ¥ | e R TR 2 el

Q) WRmE F S o) g

Tl -

2

@ IR (4 deheE w9 A PR

99.

Which of the following is not the part of privatisation routes?

(1) Lease

(2) Management employee buy;out

(3) Concessions

(4) Liberalisation

Prefifea & @ PF-a1 (elieeer & AW &1 ArT T 87
(1) wgeT

@) SE FE B G

@) Ramd

(4) FIRABT

The Country'of NorthKotea has-aldictatorthat thakes all the/deondifiic |

]
R |
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100: | Which of the following is not the part of fiscal policy?
(1) Taxation

(2) Public Borrowing

(3) Forced Savings

‘(4). Open Market Operation

Frefofea & & P-ar Toe Ay @ of T8 27
(1) HIR9o (2) WEWFE Fol
() T s 4) g IR @ B
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4. Question Booklet along-with answer key of all the A,B,C and D code shall be got
uploaded on the University Website immediately after the conduct of Entrance
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1. | Who are paid last, in the order of payment by the liquidator?

(1) Preference shareholders (2) Unsecured creditors

(3) Equity shareholders (4) Debenture
memm%mﬁmmﬁwmvm%?
(1) aifeR S 2) FgRE dTER

(3) @Hdl CEIBIR] (4 FOA

9. | When current ratio is 2:1 and if there is equal increase in current asset
and current liability then it will result in :

(1) Decrease in Current Ratio
(2) Increase in Current Ratio
(3) No Change

(4) None of the above

ma@aﬂwzﬂ%mﬁa@wﬁ@wa@mﬁﬁwqﬁ;ﬁ%ﬁ
T RO BT

(1) =g e 7 &
(2) g IguE s
3) @ Raa Tl

(4) ISwd # @ A T
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3.

of

Comparison of financial statements highlights the trend of the
the business.

(1) Financial position (2) Performance

(3)  Profitability (4) All of the above
xRl ot go agem & A wgft W e S ¥
1) foxiig Refy @) e |

() W REE (4) Iwg® o

Which of the following is n0t an objective of Analysis of Financial Statement?
(1) To judge the financial health of the firm

(2) To judge the short term and long term liquidity position of the firm
(3) To judge the reasons {or the change in the profitability of the firm

(4) To judge the variations in the accounting practices of the business!
followed by different enterprises.

'ﬁqﬁf@ﬁﬁﬁaﬁﬁ—mﬁ?ﬁuﬁwﬁ%ﬁsﬁwm@a@wﬁ%?
(1) ¥ & fox @ & qeieT Hen

@ Wﬂﬁwwmmmmwwmm
6) wﬁmﬁm%mwmm

(4) ﬁ%wﬁmmmﬂm%a@mmﬁﬁmﬁﬁww
F |
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5. | Under acquisition accounting fair value of asset will be the :
(1) Best Price (2) Sale value
(8) Cost paid for asset (4) Market value
SRR & iGN B @R Ifd I A -
(1) wE
(2) foepd T
(3) TR & Y & T ArE
(4) ST e
6. | Capital is shown in Liability side of a Balance Sheet because of:

(1) Going concern concept

(2) Separate Legal Entity Concept

3) Asperlaw

(4) None of the above

Gt 1 ol fred & A o @l ST e ST @ s g6 B S
(1) dI G R

©2) 9g% e ARG SR

@) fifue gEe & STgar

4) IF { § B T
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7. | Which of the following assumptions are made while calculating marginal

cost? |
(1) Total fixed cost is constant ét all levels of output

(2) Total variable cost varies according to the volume of output
(3) All elements of cost can be divided into fixed and variable components
(4) All of the above
Mmﬁwmwmﬁﬁm—ﬁwﬁﬁmﬁ
(1) O 3 9% & T RaT A SR el €

2 qﬁmﬁawwaﬁw%mmﬁhﬁ?ﬁ%

() T % q et @) Rew qu Redad gedt § de o @ R

4) W &

The term 'Contribution' ref:rs to the
(1) Excess of selling price over variable cost per umt
(2) Difference between the selling price and total cost
(3) Subscription towards raising capital

(4) None of the above

(1) s 3R WRads AT @ o R qw @ s e
(2) forpa T T W AW F AW SRR |

(3) Tt Jem 3 R afEm

(4) I9gH T U PR T
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9.

All agreements are contracts if they are made by the :
(1) free consent of parties competent to contract

(2) for alawful consideration and with a lawful object
(3) are not hereby expressly declared to be void

(4) all of these

aft ofgey dew Bd AR A .. & R 9 2

(1) HR@T A 3G Rl H @ geHid

(2) e IGT & WY T M-S Taed B g

(3) o Wx w9 FF 9fd A K 1 &

(4) T &

10.

How a partnership firm can be established?
(1) By Agreement

(2) By registration by statute

(3) Both (1) and (2)

(4) None of these

o g B 9wl @ o g R7

(1) qwEhd &

2 fem awr el & e |

(@) (V) T (2) 3

4 FH B T
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11. | What exactly do you mean when you say "under ideal competition in the
product market"?
(1) MRP = VMP (Value of Marginal Product)
(2) MRP >VMP
(3) VMP>MRP
(4) None of the above '
areE A oNgH A SET A ¥ o/ o e ¥ IR eI # et e
% JTra?
(1) MRP = VMP (§M< 3q©& & g)
(2) MRP>VMP
; (3) VMP >MRP
| (4) IG® T q B T
12. | What do you mean by the supply of goods?

(1) The actual production of the goods

(2) Total stock in the warehouse

(3) Stock available for sale

(4) Quantity of the goods offered for sale at a particular price per unit of
time

aegelt A oMyt d FT ifpmE R?

(1) TFA H arRs SR

@) fit 3 e swoe =
@ Hﬁméwwwﬁﬁaaﬂwwhaﬁ%gmﬁam@aﬁaﬁw

B——
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18. | What is the meaning of the law of demand?

(1) As the price rises, the quantity demanded rises.
(2) As the supply rises, the demand rises.

(3) As the price rises, the quantity demanded falls.
(4) As the quantity demanded rises, the price rises.
g & e @ o 87

(1) 99 9d Sl & o 5 T A aed B

@ @ qff sedt & @ 7T T R

(3) 9 DT et & A AN T A gt 2

(4) <@ H T A P A e € A P aed ¢ |

14. | In the case of perfect elasticity, the demand curve is :

(1) Vertical (2) Horizontal
(3) Flat (4) Steep
e e AT as # A o
(1) T=aq (2) &f
3) =Gl (4) d o arlt

15. | Perfect competition is characterized by :
(1) large number of buyers and sellers
(2) homogeneous product

(3) free entry and exit of firms

(4) all of the above

ot s ) R 2

(1) Hamalt quar febarell & g dE

(2) THEY I

@) @ B IH Faq au s

4 I &
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anded of a commodity jn
16. | The tionate change in the quantity dem o
. proportion ated commodity is called :

response to change in the price of another o
lastict
(1) Price elasticity (2) Relatede

(3) Cross elasticity
T a6 @ A T T o et aeg # A iChy %‘ﬁ“a“ g

(4) Income elasticity

e aRac Feam @
(1) Fwg = @) g @4
@) AR A (4) 9 9

17. | The short run production function is called :

(1) Returns to scale

(2) Law of variable proportion

(3) Production possibility frontier

(4) None of these |

HETHA I B Beml ¢

(1) ¥ 3 gfw (2) R St F Py
(3) I GO Wy @ AN

18. | Whenever
is rising,
(1) Variable cost

18 greater than average total cost, average total cost

(2) Marginal cost

(3) Fixed cost (4) Fullcost
TR eﬂm@mammm
D o o . mmﬁﬂm@ma@maﬁu
@) Rax amm @ T s
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19. | Which one of the following is not a reason for adopting skimming price

strategy?

(1) When the demand of new product is relatively inelastic
(2) When there are no close substitutes

(3) Elasticity of demand is not known

4) Producf has high price elasticity in the initial stage
Predfotan % & - RafiT A TR ST 9 A T 37
(1) o9 T4 IqE B AT a0y w9 F IR A 2

©2) 9 B e WG IucRd T A |

(3) | T A A el

(@) S s § SO @ G A de Rl ¥

20. Fﬁncﬁonal relationship between iﬁput and output known as :
1 Cdnversion |

(2) Production function

(3) Work in progress

(4) Output function

amﬁﬁ%wm%wwmﬁmwﬁmmmﬁ:
(1) B (2) IRA FE

(mwwh’ _ (4) P o

PHD/URS-EE-DEC-2022 (Commerce) Code-C -
9 -




Y
Cogdet\'x

&

Quﬁs;io m \
' L Ty
21. | Who gave the concept of Marketing Myopia?
(1) Abraham Maslow
(2) Peter Drucker
(8) Theodore Levitt
(4) Philip Kotler
bt Ay o sreren fhe &7
(1) omred ¥ (2) T ZH
3) RERR Afe (4) fEfr e
—
' 22. | Need is defined as:
| (1) Requirement of basic necessities
(2) State of felt deprivation
(3) Desire to have something
(4) All of the above
SETHAT H 39 w9 F oRwfa R o wear @
(1) JO AETHASA bl &
(2) ST AT B T
3) FB T A T/
(4) Sugh &
-

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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23. | Which of these is true about marketing?
(1) Marketing is used to promote the product and services
(2) Marketing is concerned about the sales only
(3) Marketingis the activity, set of institutions, and processes for creating,
communicating, delivering, and exchanging offerings that have value
of customers, clients, patterns and society at large.
(4) Marketing considers only the needs of the organization and not the
society
R @ fawg & Frefaied 3 @ @F-6 6 87
1) ﬁmﬂmmaﬁmﬁ%ﬁaﬁ%mﬁ?mm%
@ R daa R 8@ g 2
(3 P g8 Tfafy el @ WYe qE S, FHT B, qgararam
e & -3 FOT @) B ¥ S e, e, a@aﬁmw%m
ZMqF & 4 Jea €
(4) WWW@W&W@W@HW%WW%H@
94, | Strategic Marketing Planning must begin with : |
(i) Short term targets (2) Goals
(3) Mission Statement (4) Objective
ToEffe R e e BT =Ry
(1) FEHRH SR & T (2 e & @Y
@) A FaA a‘v IR (4) FERITS IR & qY

PHD/URS—EE—-DEC-2022 (Commerce) Code-C
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26. | Line Extensionis & concept related ! t Mix
duc
(1) Marketing Mix @ PP ia Mi
@ Media MiX

(3) Promotion Mix

AR gy & I@Urcn g 8 o ?

1) Ree Ry @ ) AR 5
. . J ‘"9

26. | Which of the following describes ndiversification

(1) New products in new markets
markets

@) New products in existing
ts in an existing market

(3) Existing produc
(4) Existing products in new markets

mmmaam-m‘mwwm
1) T FE § T T

@ R e 3§ T I

) R aem ¥ fagee IS

@) T IO A e Su

In Modern Times Marketing revolves around :
(2) Needs of the Consumer

FTdl 87

27.
(1) Wants of the Consumer

(3) Products (4) Services

angﬁmwﬁﬁwmsa%mﬁeﬂrm%:
!(i)miﬁsﬂaﬁ$ (@) ITRR B AR B

(3 ww D (4) et B

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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98. | Which of the following is included in Digital Marketing? .
(1) E-mail Marketing (2) Social Media Marketing
(3) Web Marketing (4) All of the above
Prefifd & @ d-ar Rfes @i & s &7
(1) -3 qHT (2) S A AHET
(3) I AT (4) IGw &
29. | Who has the biggest market share in E-Commerce?
(1) Flipkart (2) Google
(3) Alibaba (4) Amazon
R T &~ AT A el REed &7
(1) T (2) T
@ odEE (4) SFS
30. | 'Skimming' in marketing is known as:

(i) Promotional Strategy (2) Pricing Strategy

(3) Tactics (4) None of the above

R & ‘RefiT @ 3@ & F S R @
(1) Hada T @) T FERe T
(3) IRedl (4) I A q AR T

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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ial Responsibilit
81. | Which of the following is not true about Corporate Socia P ity

i and contriby
which is about commitment by business to behave ethically te

to?

(1) Political awareness, social security and inclusion

(2) Public health, education and literacy

(3) Maintaining ecological balances and protecting environment

(4) Rendering, sponsoring and donating to social and charitable activitieg

Pl & @ f-a1 Y amie soEia o aEEd a7 e w1 Y
AR FA T T4 0 & Sdsd @ garad 8, 3 Ry 3§ g9 768 ¥

(1) o ST, ST geen qun e

(2) WESF @R, Rem a9 wwR

(3) Wi qgeet & o TE qur v g

(4) o qor et TRRRE § aieE, W e a T S

32.

Which of the following is/are the type/s of Dumping?

(1) Predatory dumping (2) Sporadic dumping
(3) Persistent dumping (4) All of the above
Frfefed & & S9-a1/2 i w13 e B

() e s (2) Wege s

@) MR sm (4) SHF T

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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Who propose the concept of International Trade Organisation?

33.
(1) John Maynard Keynes and White
(2) JohnKaiser
(3) A.Marshal
(4) Adam Smith
RIS AR e B AR e e 37
(1) 9 B Fi T BRE (2) A B
(3) T " (4) weA fo
34. | In foreign trade, an adverse balance of trade means :

(1) Import exceeds exports
@) Export is equal to import

(3) Export exceeds import

(4) None of the above

rRs @ #, Redd @ age 7 o §
(1) o Fatg & o 8 8

() Prafa @ oA T AN ¥

(3) Pt omara & oAf @1 ¥

(4) IE A & B T

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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85. | Which of the following is a form of FDI?

(1) establishment a wholly new operation
(2) acquiring an existing firm

(3) merging with an existing firm

(4) all of the above

P & & @ o6 & o & @ W 87
(1) % Qiqa a1 e @i H

(2) & femE @ SRR &

(3) w e v & g R &

4 Ig® a4

86. | What is the full form of ASEAN?

(1) Association of South East Asian Nations

(2) Administration of Southern East Asian Nations
(3) Organisation of South East Asian Nations

(4) Administration of South East Asian Nations
TR (ASEAN) & T greq & 7

(1) TR % a9 $) e g

(2) TERFRE % ¥ $7 e g

(3) AR A ST e PR Jgr

@) PR A% e fR R dew

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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37.

Which of the following is the c;rrect full form of NAFTA?
(1) North American Free Trade Agreement

(2) National Federation on Free Trade Agreement

(3) Natioﬁal ‘Free Trade Association

(4) None of the above

Rrffeg & @ -1 % (NAFTA) &1 T 51 &7

(1) T AR B g T

@ g PEH S W g3 T

(3) AT W 3T TR

@) I A @ B T

38.

TRIMS stands for :

(1) Trade Related Income Measure

(2) Trade Related Investment Measure

(3) Trans National Investment and Monetary System
(4) Trade Restrictions on Investment, Measures |
R (TRIMS) & % @ :

(1) 33 R A T

@ 33 RAts FEEAT TN

() 7w Je TR S Wl R

(@ ¥ W I AT A

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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39.

The Term Dumping refers 0 :
(1) Reducing tariffs

(@) Sale of goods abroad at a lower price, below their cost and price ip

their home market

(3) Buying goods at low prices abroad and selling at higher prices locally

(4) Expensive goods selling for low prices
(1) IR H FH B

) aﬁﬁﬁﬁ%&ﬁﬁm%«ﬁﬁﬁﬁ@wﬁmmmm
q A

3) a@ﬁﬁﬁ%ﬁawmwmwwﬁumﬁﬁmwm
@) wEh aegel B F B | =

In International Trade which of the following is a non-tariff trade barrier?

40.

(1) Quotas 2) Import bans

(3) Export controls (4) Antidumping laws

i R # Frefied 3 & S9-0 R-1gws amr am 37

(1) B () 3w ey

(3) Fraf e (4) TA-gf P
PHD/URS-EE-DEC-2022 (Commer(ce) Code-C J
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The values of extreme items do not influence the average for

(1) Mean (2) Mode

(3) Median (4) None of the above
T Q@ H AT oo Araa @t gefed TE |

(1) 1= (2) TETH

@) e @ I & @ P T8

In a negatively skewed distribution :

42.
(1) Mean>Mode>Median (2) Mode>Median>Mean
(3) Mean>Median>Mode (4) Mode>Median>Mean
W RO @9 @ e e |
(1) 71 > 9§ > AAw (2) Tgad > AeAw > qH
(3) WA > HitAd > Ak (4) FEAD > HiAH > AA
43. | The Coefficient of Correlation between the ages of Husband and Wife at

the time of marriage for a given set of 100 couples was noted to be 0.6.
Assume that all these couples survive to celebrate the silver jubilee of]

their marriage. The coefficient of correlation at that point of time will be :

(1) willremain unchanged  (2) will increase

(3) will decrease (4) none of the above

100 St 3w RA T Gy H fEE & T 9 qq o B qY B A=
Wﬂmoewwmﬁaﬁmﬁﬁwﬁ%mmﬁwm

ﬂﬁ%mvﬁﬁawﬁ%nsﬂwwm—aw

(1) Rafda e (2) Fem
@) wm @ IEw A A

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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44. | What is the name of the event for which the probability 18 zero:

(1) Impossible event 2) Random even

(3) Exhaustive events 4) Mutual exclusive events
mewm%mmm@am?

1) STENg "geAl (2) aBREH T

(3) Tl Al (4) TCER SR e

45. | Which of the following is not a type of non-probability sampling?
(1) Quota sampling

(2) Convenience sampling

(3) Snowball sampling

(4) Stratified random sampling

ﬁwrﬁf@aﬁ%zﬁmwﬁz—n@mﬁaﬂﬂwwmaﬁ%?

(3) AT 4) Rfdre

Q) e Fee (@ gRw P

(3) e R (@) @Ra IEFEH e
46. | In what type of research, the researchér usually uses facts or informati

already available?
(1) Analytical (2) Descriptive
(3) Applied (4) Distinctive
Pra SR & AgEEH W«mmm:qza%mwaﬁi'mwm
qarT HTa 87
(1) fasweneT (2) TEvoTeTE

PHD/URS-EE-DEC-2022 (Commerce) Code-C
(20)




Set-X
Code—C

E"esti"“ Questions
No.
47. | Which of the following are non-parametric statistics?

(a) t-test

(b) F-test

(c) Spearman's rank order correlation
(d) Mann-Whitney-Wilcoxon test

(e) Kendall Coefficient of Concordance

Choose the correct answer from the option given below :
(2) b,candd only

(1) abandc only

(3) b,dande only (4) c,dande only

P & PF-8 TR-wrEfE w87

(c) T & Pifc FH Ted<d
(d) - -RmeeET T
() FT @ qHGY JF

ﬁﬁqwﬁmﬁéﬂﬁwwwm:
| ) %ad a, bl c (2) @ad b, c @l d
| (3 @ad@ b, dTdA e (4) 3ad c, d T e

Report are often used to display the result of :
(2) Investigation

(4) All of these

48.
(1) Experiment

(3) Inquiry
R@imﬁwﬁmﬁﬁqﬁwmﬁ%mma&h%:
© W@ 2 @

@) = (4) TG qf

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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49. | Skewness of Normal distribution is :
(1) Negative (2) Positive
(3) Zero 4) Undefined
SO faeRr &t fwar & @ ¢
(1) FomeTs (2) gD
@) = o (4) SR
—
50. | The correlation for the values of two variables moving in the same directiop
1S :
| (1) Perfect positive (2) Negative
a (3) Positive (4) No correlation
TE R F i R @ = D AW B geay O
1) T g @) TS
() e (4) 3 wewy T8

51. | Ifthe commodities are substitute in nature, crosg elasticity will be :

(1) Negative (2) Positive

(3) Zero (4) Any of the above -
qﬁa@aﬂﬁmmaﬁa?ﬂéa‘tmmm:
(1) Fomes @) Yo

@) (4) 3% F ¥ B 78

PHD/URS—EE—DEC—2022 (Commerce) Code-C
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52. | In a perfectly competitive market, individual firm :

(1) Can influence the price of its product

(2) Can fix the price of its product

(3) Can influence the market force

(4) Cannot influence the price of its product
T’fﬁ'{ﬂ gt s & Afe EH

(1) o IE P PG B IR BT T o
(2) HW IAE F P PR B ERd e

(3) IR ARRA P ART F A 8

(4) A IAR P PTG H A T8 BTGBl

53.

In the case of unitary elastic demand, the shape of demand curve is :
(1) Vertical line

(2) Horizontal line

3) Rectangulér hyperbola

(4) Steep

T @ @3S 3 TET AN @ g #, A 9% @ SR e €

(1) waq @

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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84. | Total Revenue will be maximum at the point where Marginal Revenye iy,
(1) One @) Zero
@ >1 @ <1
T o o8 R W afwen A o R T R
1) 2 9
@ >1 @ <1

86. | Who developed the coneept of Double Entry System?

(1) Henri Fayol (2) Lucas Pacilio
(8) Henry Ford (4) Adam Smith
0 Fa o # oman o Pafw A
(1) & A (2) % WA

3) @ 4) vew Ry

86. | A company proposes to introduced a new pMuét in the market. The
company wants to maintain P/V Ratio at 25%. If the Variable Cost of the
product is Rs. 300, what will be the selling price?

(1) Rs. 100 (2) Ra. 200
(3) Rs.300 (4) Rs.400

wwﬁwﬂwﬁmduﬁwmﬂhwﬁwmzm
ﬂmmﬁlaﬁwﬁwﬁmms.mt,ﬁrmWWM?

3 %.300 (4) %.400

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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r 67.

What is the objective of Environmental Accounting?

(1) Make true and reliable information
(2) Study and Analyse environment assessment, measurement and

control process
Establish parameters to provide relevant information

@)

(4) Reveal the degree of impact on the environment

wiaeoi d@isT & F1 IR 87

(1) @ qE RsEEd g
@) WW,WWWWW&WWE{W

(3) SR I S A § AMES wed B
(4) TEERT G gAE H AET FBT HTN

58.

As per Section 143 of Companies Act, 2013, the primary objective of Auditing

isto:
(1) Detect fraud and hold the responsible person

(2) Detect and prevent errors

(3) Detect and prevent frauds

(4) Report Financial Statements that give a true and fair view of the
state of the company's affairs. o

R SRfrT 2013 & U 143 & A SHET F Al IR §

(1) AR # G X a S ARE B e

@ A @ G T A |

(3) drerd) P oA I qE

(4) iy R & sfded 30 9 F S FA A Refy & we qun

eI g Fa &

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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' ; hich of the following ¢
59. | The concept of separate entity is apphcable tow Ypes

of business?

i tion
(1) Sole Proprietorship (2) Corpora

(3) Partnership (4) Allof them -

P & 3 o g & el & R g A B ST A A
(1) THd @i (2) frm

(3) aEeETd 4) Idw qf

——

60. | What is the process through which, the legal existence of the company
comes to an end?

: (1) Incorporation (2) Liquidation
} (3) Dissolution (4) All of the above
78 F-a gk & P mem & T & Qe aRa J9Q 8 S R?
(1) wHHA I (2) |99t ' '
3) fames (4) Sugs &
61. | If the assumed hypothesis is tested for rejection considering is to be true
18 called :
(1) Null Hypothesis (2) Statistical Hypothesis
(3) Simple Hypothesis - (9 Composite Hypothesis
A A T R & T S A g s 0 3 R R o
¢ @ 3% Feaw ¥
O SRS (2) i oReee
(3) WHERY YR @ PRE qRew

PHD/URS-EE-DEC-2022 (Commerce) Coga G i
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62.

Type 1 error occurs when :

(1) We reject H if it is True

(2) We reject H if it is False

(3) We accept H, if it is True

(4) We accept H if it is False

oY 13 a9 &l g 99 :

(1) & H, & JaR & & 3R 98 a9 &
2) & H % FE&%R #d § 3 98 Aud @
(3) & H, e #d ¢ e 96 §9 &
(4) & H, & ®ER & & I 98 76 @

63.

Which of the following is not a function of Reserve Bank of India?

(1) Creation of Credit (2) Credit Control

(3) Monetary Policy (4) Issue of Currency Note

Prefefag & @ #9-91 9Rag Red §6 & & Fd T 87
(1) @ fmp 2) @ =
3 Ak iy (4) PR @1 B P

64.

The first Regional Rural Bank was established in the year :

(i) 1991 - (2) 1980

3) 1975 (4) 1982
mer &t Ao S T 3 ad §§ # :
' (2) 1980

(4) 1982

(1) 1991
(3) 1975

| PHD/URS—EE—DEC—2022 (Commerce) Code-C
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| Quostion® S
P | anagement

5 ' Real'Time Gmss Settlement (RTGS) i1

| .

g (1)) Resenve Bank of India:

5

@) Indian Bank Association
@) GovernmentrofTidia:

f @ State Bankof Tndia
ey . i e (RIGS) 1 SRR A € -
@) T '

. I order to-control credit::

| (1)) CRR:shouldbe increased and Bank:Rate should:be decreased
; i

: : (2 CRR:shouldbe deereased and'Bank Rate should be decreased
; g (8 CRR:and Bank Rate should'be increased

g (4 CBR:shouldibie-deereased and Bank Rate should be increased
j mﬁmm #m’

; (am @mmwﬁlw*w%@wm T

| (aa ﬁ*mmmﬁmﬁ%mhwmw i

| @ wmmwﬁwmwm&u |

| .(4) mmmwwwmkarwwml

mmns-EE:DEc-zozz(commmmm'
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67.

Currency Swap is a method of :
(1) hedging against foreign exchange risk
(2) speculating in foreign exchange

(3) leverage instruments used by cooperatives banks

(4) payment in international trade

i QY & Y R
(1) ﬁ%sﬁﬁﬁmmn%ﬁwmwﬁaﬁ

2 R R & geeaE 3
@) T B &7 9gH Feed SETN H
4) IS @ANR F A

68.

Major suppliers of trading instruments in capital markets are :

(1) Liquid Corporations

(2) Instrumental Corporations

(3) Manufacturing Corporations

(4) Government and Corpor atlons

oot ae § 3R SR & 9 st %
(1) @ fm

@2 ST

3) fafvmit frm

(4) a@R qur

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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ices or returns in different ma’keti‘
r

69.

Taking profit from differences in P
called :
(1) Two-sided sales

(2) Take advantage of gituation

(3) Future of protectioﬁ against financial 1088
(4) Arbitrage
Rt qemt & el a
(1) fa-geig fawd
()RR & @ T

@) R el & e Tt g

Wﬁﬁeﬁﬂﬁmmm%:

(4) HAWTH o ..

70.

Security and Exchange Board of India (SEBI) was established in the

year :
(1) 1980 (2) 1988
(3) 1982 (4) 1992
ARl geen o4 v @S (SEBD) @t we & ag R
(1) 1980 | (2) 1988
(3) 1982 (4) 1992

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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71. | The full form of NSDL in Economic Dictionary is :

(1) National Securities Depository Limitea v
(2) National Share Depository Limited

(3) National Securities Development Limited
(4) National Share Development Limited
i gy § NSDL & ¢t oreq &

(1) e RERde Rl s

2 e AW Rt Rifs

@) g Reids S RS

(4) A9 A AT s

72. | Which of the following is not the feature of Indian Capital Market?

(1) Government rules and regulations

(2) Utilizes intermediaries

(3) Link between saver and investment opportunities

(4) Co-promotes state level venture funds

Frefifan 7 & - i G A o Rt T 37
(1) weHd Frw o fafam

) et & Q@ F T FTCA 8

@) e @ AT sl & de w9

(4) o e A A de-waR B &

PHD/URS-EE-DEC-2022 (Commerce) Code-C
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ds per share divided by earning pe

74. | Dividen
(2) Proposed divide

nd ratio

(1) Earning per share ratio
4) Expected dividend ratio

(3) Dividend payout ratio
uﬁfaisranﬂaraﬁuﬁfammﬁﬂmﬂmﬁ!%:
(2) W i AFAA

(1) ofar siqr o AFIC
(4) e s ST

(3) TS A ST

Code-¢
///

] T Qe N
78. | Cash flow statement considers following parameters :

(1) Operating activities (2) Financing activities

(3) Investing activities () Allofthe above

Tl e R e Araaest frere HT 8

() e RRed o @ frch TR

(3) Maw nfafaferar (4) Iy g+

r share 18 termed as :

75. | Quick Ratio is also known as :

(1) Current Ratio (2) Acid-test Ratio

(3) Cash Ratio (4) Solvency Ratio
@Ra U & 3@ &9 F R A S &
(1) Iy T (2 I T S

(3) TR HIA (@) M N S

PHD/URS-EE-DEC-2022 (Commerce) Code-C
(32)




W Questions
No.

Set-X
Code-C

(—76.

Profit margin is measured by :
(1) Operating efficiency

(2) Asset use efficiency

(3) Financial policy

(4) Dividend policy

QT FITT AT Sl §

(1) GREw &Hd &

3) FiE Aifq &

(2) GRRT IENT &HA G
(4) S i &

1.

The process of planning and managing a firm's long-term investments is

called:
(1) Capital Structuring

(2) Capital Rationing
3) Capital Budgeting
(4) Working Capital Management
@mﬁ%ﬁéﬂaﬁqﬁ%}sﬁ%ﬁmwwmﬁmm%:
(1) it qeE=

@ g

© o

(4) FEd gﬁ eCE)
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No.
78. | The Country of North Korea has 2 dictator( that mékes all the €Conom,
decisions. What type of economy is this :
(1) Traditional (2 Command
(8) Market (4) Centrally Planned
Wéaﬁﬁm%&rﬁmmg%ﬁﬁaﬁ%ﬁﬂh@ﬂ%l%ﬁmmﬁa%
&7
1) TOUrE @2 FE -
@ e (4) A &1 @ PR
i | . . . B
| 79. | Which of the following is not the part of privatisation routes?
Lf
(1) Lease

Management employee buy-out

2

(3) Concessions

(4) Liberalisation
Prefofed § & -a1 Fofidr A & 9 T 7

(1) 9T
@) ¥ FiHH B Gl

3) Rard

(4) IIHT
______/
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Fso.

Which of the following is not the part of fiscal policy?

(1) Taxation
(2) Public Borrowing
(8) Forced Savings

(4) Open Market Operation

Frefeiead & @ $9-T1 W@y AT & T TE R0
(1) &R (2) WS F
(3) ] Set 4) ga IO P Rl

81.

How do you explain Call Money?

(1) Itis anovernight loan in the Money Market

(2) Itisloan of above 1- day to 14 days in the money market
(3) Itisloanof above 14 day of 364 days in the money market
(4) Itis an amount charged on ISD

AT 5T AT A b T BN

(1) ¥ 9a1 oK & TR H SN &

(2 76 g5 IO F 1RT Y 14RT 7 H IR E

(3) 76 TE K A i&ﬁ#fﬁ 364 Reff 0% 13U 2

(4) 75 o TE S W ARG T E
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82.

What will be the likely impact if Reserve Bank of India reduces at Bany
Rate?

(1) Less liquidity in the market

(2) More liquidity in the market

(3) No change in the market liquidity
mmercial banks

(4) Mobilisation of more deposits by co

i oot ¥ ot o & @ a0 & @ g T S gy
1) IO F FH qwed

(2) IO H Hfes qeAT

(3) SR e § Fg RadT Tl

@) @R Y g afe AT @ e

58.

What is the full form of CDSL?

(1) Centralr Depository Services Limited
(2) Cardinal Depository Services Limited
(3) Central Depository Securities Limited
(4) None of the above

8 & @ @ & O ey @& e

(1) e Rued afidw e

2) FRT Rureh sffaw s

(8) @ Rufred Redftdor Rifvde

@ I9E T A A 7
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84. | On which rate bases, overnight money 18 needed by bank from RBI?
(1) Marginal Standing Facility (MSF) rate
(2) Repo rate
3) Revefse repo rate
(4) Bank rate
R M T, meﬁﬂﬁﬁmﬁm%mgmaﬁmm@m%?
) qﬁﬂﬁé‘%ﬂﬁﬁm (MSF)&'{ £
@ WX
(3) Rad W T
@) % T
85. | An attempt to gaining short term profit from the price difference or

movements of securities are called :

(1) Investment (2) Speculation

(4) All of the above

(3) Hedging

el e T SRR S R
Q) fRaw @ "

(3) G S A (4) ITgH T
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No.

86.

Method of trading i NSE 18

(1) Floor based - Order driven
(2) Screen based - Code driven
(3) Screen based - Order driven
(4) Floor based - Quote driven

womdARARRE

87.

How do you refer to the shares of well-established and ﬁnancxally soung
companies, with little investment risk and good history ofearm'ngs ag:

(1) Alpha shares (2) Blue chip shares
(3) Star stock (4) Beta stock

e qu i gfte & wea gt & S, A 9 R AMaw qwr o

& 3 Ifaem A ¥ @ W B gen wad Hi
(1) = 3y (2) = fom sig
3) BN &% (4) 91 =%

88.

Curreny swap 1s used for -

(1) Speculating in Forex (2) Hedging against Forex risk

() Maintaining bank balance (4) RB| mandate

M@QHWWTWMW}
1) SR A 5z o (2)%%%Wmmm
O WETTE g g aa |

punrua&wnsc-zozzmm

— — PHI
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89. | What is the time period for a term loan to be classified as NPA?
(1) 60days (2) 70 days
(8) 90days (4) 1year
qAR FO F e G a1 ¥ 9 9f wf & ¢ F g B o 27
(1) 60R" ) 70R
(3) 90RT 4) 1a¥
90. | Insurance works on the principle of :
(1) Sharing of losses (2) Probabilities
(3) Large numbers (4) All of the above
i 36 R W a0 R @ |
(1) @i &l Seara (2) s
(3) T Heanst (4) I9gh @l
91. | Dissolution of a public company can be done by :

(1) Only by the order of court
2) On the death of shareholder

(3) On the death of promoter

(4) Allof these

A F P Rued R S w6

(1) a0 U@ $ ARY A (2) aismrﬁiﬁﬁqr
@ WHEAITIW .. @ FHIER
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92. | India has chosen ... odel of dual GST
(1) USA @) Che?
@) UK (4 Canadia®
TR AR ARG AT e At 3 ¢
1) F@C @ 9
® 73 (4) e !
98. | Restricting competition 18 8 :
(1) Unfair trade practice |
(2) Monopolistic trade pvra(;ticev
@) Restricﬁve trade practice
(4)» None of the above
et @@ A @ A
(1) oRe @R FEET (2) CHi O AR
(3) sRafe @R @R (4) IS A § A T
94, | Which of the following goods are taxed under Goods and Services Tax

(GST), India? .~
(1) CNG (2) Liquor
(3) Petrol ’(4) None of the above

I % A ¥R (G8T) & drr P § @ - gl W R
I S ¥

) @ @ W
® ¥w @ 9% ¥ 3 9 7
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95. | The Negotiable Instruments Act, 1881 is an Act to define and amend the

law relating to :

(1) cheques (2) bills of exchange
(3) promissory notes (4) all of the above
W e s, 1881mw«m@mmmwﬁﬁm
A Qg ©
1) ¥ (o) ffrm R
3) = ™ (4) I

76. In a Promissory Note, how many parties are involved?
(1) One (2) Two
(3) Three (4) Four
o @ § R TR 8 8§
1n & @ d
@) (@ T

97. | A'Cheque'is a Bills of Excliange and has been defined under :
(1) The Negotiable Instruments Act, 1881

(2) The Reserve Bank of India Act, 1934

(3) The Banking Regulation Act, 1949

-(4) All of the above
o % R @t B Ree w g el §

(1) e fre afafad, 1881

(@ Ford ¥ o e R, 1934
(3) e Frawe s, 1949

@ aqé?ﬁ mﬂ
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98. | The RTI application is addressed to ——
(1) Chief Minister of the respective state
(2) Prime Minister of India
(3) President of India
(4) Public Information Officer
IR & S T oo 1 geifed @ S 2
(1) §=feag g & geaaat (2 qRA @ FEEEA
(3) 9Ra B TSR 4) e ge At
/ 99. | Who can file an RTI?
(1) Only Indian Nationals (2) Only Foreign Nationals
i (3) Both (1) and (2) (4) None of the above
| AR & o B e a2
(1) %9d ARAE A (2) %aq R RS
/(3) (1) &&r (2) At (4) I F q P T
100. | Patent can be granted for :
/ (1) Process
(2) Ideas
(3) Both product and process
(4) Product
9de e[ fRar S owwar §
(1) afar © R @
(3) SIS U gfhAr At 4) INE
—

PHD/URS-EE-DEC-2022 (Commerce) Codac
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Code-D
ulslffon Questions
1. | If the assumed hypothesis is tested for rejection considering is to be true
is called :
(1) - Null Hypothesis (2) Statistical Hypothesis
(3) Simple Hypothesis (4) Composite Hypothesis
qﬁmﬁmﬁwﬁwmmqﬁww@rmmﬁgqaﬁmﬁ%ﬁﬁﬁmw
¢ @ 7@ Fww
W T R @) i e
(3) WNRT YRS @ M3 oReea
2. | Type 1 error occurs when : ‘

() We reject H, if it is True
(2 We reject H, if it is False

(3) We accept H, if it is True

(4) We accept H, if it is False

TRY 1R o7 ad ¥ o :

(1) & H, 3 &SR &7 § IR 96 99 &
(@ & H F J&&R &d ¢ IR I8 o &
3) & H & %R #xd ¢ 3} 98 w9 @
4) & H & @ER #d € 3 98 96 8
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Code-D
/———_—_____‘
P Questions
No. _ h ; : ]
ve Bank of India?

3. | Which of the féﬂowmg is not a function of Reser

(1) Creation of Credit (2) Credit Control

3 Monetéry Policy (4) Issue of Currency Note

ﬁwﬁf@ﬁﬁ%qﬁj—mmﬁﬁ#%m@aﬁﬁ%?

(1) wrg i (2) q@ FE=
3) HIEE A (4) PRl gET B P
4. | The first Regional Rural Bank was established in the year:
(1) 1991 (2) 1980 o
(3). 1975 ' (4) 1982
e Al e 3% A T A a9 g 4
(1) 1991 (2) 1980
(3 1975 . (4) 1982

5. | Real Time Gross Settlement (RTGS) is management by :
(1) Reserve Bank of India

(2) Indian Bank Association

(3) Government of India -

(4) State Bank of Indiér

ot e A AT (RTGS) H I T € -

1) W Rod oo (2 RGO ¥ CARTH
(3) ARG WERIL. . v (4) RAG Ve

¢ PHD[URS—EE—DEC—2022 (Cb@erce) Code-D
S L e @)
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6. | In order to control credit :
(1) CRR should be increased and Bank Rate should be decreased

(2) CRR should be decreased and Bank Rate should be decreased

(3) CRR and Bank Rate should be increased
(4) CRR should be decreased and Bank Rate should be increased -

BUCREEE L ICN I |
(1) ¥ SN AR qerlt T =RT qer § X el o =R
@) aﬁmwmwﬁmﬁuw%ﬂmwml
() @ IR AR T I X @R FF =R |

@) R R gerdl S AR Jur I &¥ gerh o =iy

7. Currency Swap is a‘'method of :
(1) hedging against foreign exchange risk
(2) speculating in foreign exchange

(3) leverage instruments used by cooperatives banks

(4) payment ininternational trade

HH @Y TF Yy
1) R [fvme S 8 s T s @

2 fRsh g 7 weesh #
3 mﬁaﬁmmaﬁaﬁwﬁﬁ
(4) SRS AOR ¥ e @

PHDfURS—EE—DEC-2022 (Commerce) Code-D
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8. | Major suppliers of trading instruments in capital

markets are :

(1) Liquid Corporations

(2) Instrumental Corporations

(3) Manufacturing Corporations '

(4) Government and Corporations

ot o 3 2 el & S SR §
(1) @ Frm

(2) SuHRCiE fm

@) faFmrel Frm

4) R qar Frm

9. | Taking profit from differences in prices or returns in different market is
called :
(1) Two-sided sales

(2) Take advantage ofsituation

(3) Future of protection against financial loss

(4) Arbitrage |

RfreT ATl & el e SR & S @ HAE e ©
(1) fe-weim fospa | g
(2) Rfafr @ @ e

@) Rrim af & oS 96 gen

@ st

PHD/URS—EE—DEC—2022 (Corhmei'ce) Code-D
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QuNo,on Questions
10. | Security and Exchange Board of India (SEBI) was established in the

Year:
(1) 1980 | @ 1988
@ 1982 4) 1992 4

ARG G oF fafma 91 (SEBD & @& & a9 §
(1) 1980 (2) 1988

(3) 1982 (4) 1992

11.

Dissolution of a public company can be done by :
(1) Only by the order of court |
(2) On the -death of shareholder

(3) On the death of promoter

(4) All of these

A w1 A R o e S

(1) %o <A & AR G

(2 Sqard # 5g |

() Y@ @ §g W

@ ¥ q 8

 PHD/URS-EE-DEC-2022 (Commerce) Code-D
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12. | Indis haschosen ....oen model of dual GST.
) USA (2) China
@) UK (4) Canadian
NGRS TSR I SRR dfeq g 8
@ Twq @ A
® I (@) Tl
13. | Restricting competitionisa:

(1) Unfair trade practice

(2) Monopolistic trade practice

(38) Restrictive trade practice

(4) None of the above

TReaE W % S e © _

(1) A ANR SRR (2) THEHR FMR FAdER
(3) FnErTa FAR HGER 4) Sugw H § @3 T

14.

Which of the following goods are taxed under Goods and Services Tax
(GST), India? &

(1) CNG (2) Liquor
(8) Petrol (4) None of the above

9RG & 919 T Qa1 I (GST) F F=rid Freiied ¥ § -8 aggell | &
T S &7 - :
(1) e (2) W

(3) g @) Iw 7 q P

S HD/URS-EE-DEC-2022 (Commerce) Code-D
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(1) The Negotiable Instruments Act, 1881
(2) The Reserve Bank of India Act, 1934
(8) The Banking Regulation Act, 1949

(4) All of the above

ag § fasme el @ e g weEly ol ekl ®
(1) w9 ae eifafad, 1881

@) Rerd & 3w gfear sifafam, 1934

(3) dfe e e, 1949

(4) Sugw a4l |

Code-D
Quﬁs;t‘ion Questions
15. | The Negotiable Instruments Act, 1881 is an Act to define and amend the
law relating to :
(1) cheques (2) . bills of exchange
(3) promissory notes (4) all of the above
W faag srfufeam, ISSIWWﬂﬁﬂﬁﬁQﬁWmWﬁm
HH § T ©
1) I @ Rt e
3 T ™ 4) 9§ aft
16. | In a Promissory Note, how many parties are involved?
(1) One (2) Two
(8) Three (4) Four
g O § R weER 8 8 8F
1 T @ @
@ = OREIR
17. | A'Cheque'is a Bills of Exchange and has been defined under :

' PHD/URS—EE—-DEC—2022 (Commerce) Code-D
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Q“I%S:‘im’ Questions

18. | The RTI application‘is'addressed to ———

(1) Chief Minister of the respective state

(2) Prime Minister of India

(8) President of India :

(4) Public Information Officer

ST & T TG oo A o ¥

e WWW%W (2 WRG B S

(@) WRA B AR (4 e g ST
19. | WhocanfileanRTI? =~ =

€)) Oniy Indian Nétiénéls (2) Only Foreign Nationals

3) Both (1) and (2) (4) None of the above

X & o B TR BT T 87

ey %aﬁrﬂﬂ?h‘qmm (2) SRR TR

@ @ T A (4)mg?ﬁff%qa§=r€f
20. | Patent can be granted for :

(1) Process .‘ s
(2 Ideas LTI TR p D
(3) Both producf and process

(4) Product ' L

(3) S AT SR A A (4) I A

PHD/URS-EE—DEC—2022 (Commerce) Code-D
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21. | If the commodities are substitute in nature, cross elasticity will be :
(1) Negative (2) Positive
(B) Zero

(4) Any of the above
A el A TR O A A § A o) g Al
(1) FoTR (2) TR

@) @) IEw ¥ ¥ Py Tl

In a perfectly competitive market, individual firm :

22.

(1) Can'influence the price of its product
(2) Can fix the price of its product

(3) Can influence the market force

(4) Cannot influence the price of its product
e SRR ST § e e

(1) 999 IAR B HAT B TR BT qhA o
@) N e # B FraiRa e

(3) SNIX ARRIT TG FX T B

(4) ST S DB HITT B AT TE e

23. | In the case of unitary elastic demand, the shape of demand curve is :
(1) Verticalline' =~ (2) 'Horizontal line

(8) Rectangular hyperbola (4) Steep

BT Y e TS B AR O B a0 A, {6 B AR AN D

(1) wEEq e | @) AR

(3) HEAHER AT (@) @ e amn

- PHD/URS-EE-DEC-2022 (Commerce) Code-D
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94. | Total Revenue will be maximum at the point Where Marginal Revenue is:
(1) One (2) Zero
@ >1 @ <1
@Ww@ﬁwmmﬁmwm%:
1 9= Q2 TI
@ >1 @) <1 i |
Double Entry System?

25. | Who developed the concept of
(1) Henri Fz}yol (2) Lucas Pacilio
(3) Henry Ford (4) Adam Smith

1) ¥} #EA
@ ¥R (4) A oy
ed a new product in the market. The

A company proposes to introduc

company wants to maintain P/V Ratio
300, what will be the selling price?

2 Rs.200
(4) Rs. 400

A T B ST FA § | FA PAV SR 25%
qRadwsia @E B, 800 ¥, W Rwea e @ ame

26.
atio at 25%. If the Variable Cost of the

product is Rs.
1) Rs. 100
(3) Rs. 300

T T ST F T A S
o 7@ e ¥ 1 A S @l

1 %100 (2) ®.200 |
(3) " %.300 | (4) ©.400 *
rce) Cdde-D

o ',?Pnﬁi)"/ﬂ‘Ré-EE—'DEC—zozz (Comme
| ™ i (10)
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27.

What is the objective of Environmental Accounting?

(1) Make true and reliable information

(2) Study and Analyse environment assessment, measurement and
control process

(3) = Establish parameters to provide relevant information

(4) Reveal the degree of impact on the environment

TR e 1 oy 27

(D) &=t Fo1 Ryaeeia g a9

) Whvﬂqa\wqﬁ WWWW%@WG&T%&W

3) Wwwmﬁ%mﬂmwﬁam :

@ qafaw W §AE B AR G HU

28.

; (2) Detect and preveﬁt errors

Asper Section 143 of Compames Act, 2013, the primary. objective of Auditing

is to: e SN A AV ‘ ——
(1) Detect fraud and hold the responsible person

(3) Detect and prevent frauds \_ ‘ . ‘ _

(4) Report Financial Statements that give a true and fair view of the
v state of the company's affairs.

FA AR 2013 # 143%@&%@%%@%&2@

(1) drerg @ 9EEM ST e SoRad AR A Gedre

@) FRE F1 gar T GRURG

(3) GNETEE FT qAT AT qeT

@) Rl fEe &1 oReee 30 o B St @ Rafy @ g g Rgy

' PHD/URS-EE—DEC—2022 (Commerce) Code-D

#(11) .



Set-X

Code-D
Question Questions
No. v
99. | The concept of separate entity is applicable to which of the following types

of business?
(2) Corporation
(4) Allof them

(1) Sole Proprietorship

(8) Partnership
ﬁﬁﬁfﬁéﬁﬁ%ﬁﬁw%m@f%mgwaﬁaﬂaﬁwmmﬁ%?
(1) & @i @ frm
@ R (@) IET

30. | What is the process through which, thelegal existence of the company
comes to an end?
(1) Incorporation (2) Liquidation
(3) Dissolution (4) All of the above
%%—@m%m@mm@mmﬁmmmam%?
(1) wAHE (2) T
3 fmeT (4) IHH T

31. | How do you explain Call Money? |

(1) Itis an overnight loan in the Money Market

(2) Itis loan of above 1 day to 14 days in the money market
(3) Itisloan of above 14 day of 364 days in the money market
(4) Itis an amount charged onISD

o7 AT P AT Y TEN BN

(1) 78 F@ IR F TN H WXL

© 96 95 99K § 1R 4§ 14ﬁ=raasfsrwr{%

3) ¥ & aER A 14 RN @ 364 R 7% @ 99w ®

(4) %@ oE @ & W IRa R} iy

“PHDIURS-EE-DEC—2022 (Commerce) CodeD
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32. | What will be the likely impact if Reserve Bank of India reduces at Bank
Rate?

(1) Less liquidity in the market

(2) More liquidity in the market

(3)  'No change in the market liquidity

(49) Mobilisation of more deposits by commercial banks

R Rt 3% o e 3% X F 0 Fxr ¥ gE @R SR R A
(1) I6R ¥ H7 R

2 IR F e Waw

(3) IR e § HE qRac T

(4) =R S &N s A B Ser

33: | What is the full form of CDSL? -

(i) Central Depository Sérvices Limited
@) Qardinai Depository Services Limited
(3) Central Depository Securities Limited
(4) None of the above

@ & og & P oy el

(1) A uled afftw [ids

@) HieT feufed wffew s

(@ g Rared RedRde Rifds

@) IYw F @ g T

~ PHD/URS-EE-DEC-2022 (Commerce) Code-D
| _ - (13)
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“;30. Questions
e v rom RBI?

84, | On which rate bases, overnight money 18 noeded by bank fro1
(1) Mar gmal Standing I‘acﬂlty (MSF) rate
(2) Repo rate
(8) Reverse repo rate
(4) Bankrate a8 27
ﬁ?ﬂﬂmﬁwmaﬁaﬁaﬁzﬂﬁW$mgmaﬁmsm f
(1) =it Wi gl (MSI‘) w
@ W
(3) REd W X
@ & | :

35. | An attempt to gaining short term ploﬁt from the price difference or
movements of securities are called :
(1) Investment (2) ‘Speculation
(3) Hedging — (4) All of the above
W%WW@WETW%W@?WWWWWW%
(1) R (2) |
(3) TN TS T (4) ST a0

36. | Method of trading in NSE is :

(1) Floor based - Order driven
(2) Screen based - Code driven
(3) Screen based - Order driven
(4) Floor based - Quote driven

(1) SOIRYeH SMHRG-SIRY Fewe
(2) B SMUIRA-PIS el

3) BN RG-SR ek

(@) RIS SERA-STYT T SR

HD/URS—EE-DEC—2022 (Commerce) Code-D
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37. | How do you refer to the shares of well-established and financially sound
companies, with little investment risk and good history of earnings as :

(1) Alpha shares (2) Blue clip shares
(3) Star stock (4) Beta stock

mwmg&ﬁwwﬁ@%aﬁ St 9 PR Sifg aur e
*@maﬁaﬁmmwmﬁ?

(1) T &g ©@ = f&rw sfa

B ®R &% (4) e ®i : -

38. | Curreny éwap is used for:

| @ Speculating in Forex |

2 Hedging against Forex risk

(8) Maintaining bank balance -

(4) RBImandate :

HCAl WY H 49T 6 g o s %’

(1) BREd H gl

(2) BREE AEH & faes G g T
(3) 9% a9 I @A

(@) &R & o Ry

39. | What is the time period for a term loan to be classified as NPA?

(1) 60days (2) 70days

(3) 90days (4) lyear

TER FoT P 98 GUIER 1§ 9 39 OF @ ¢ ¥ giiga fear o o
(1) 60 - (2) 70fF

@ 90RA (4) 179

iPBD/URs-EE-DEC-zozz (Commeragg Code-D
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40. | Insurance works on the princiPle of:
2 Probabilities

(1) Sharing of losses

' e
(3) Large numbers (4) Al of the aboV!

41 5 R ¢ @ A © }
(1) @@ F EEER (@) RS
@ = el (@ v &

about Corporate Social Responsibility

41. | Which of the following is not true
which is about commitment by business to behave ethically and contribute

to?
ey
@
®)

4
Rrefefag. § @ PF-ar s AHioes STREIRd St a9l aRT Afae &9 4

FEER BT qd TN B P AEsar § g 8, B fwg § g T8 {0
(1) P ST, IS GRET. T GHRe

(2) eI e, fUe T WA
3) TRRYRERE A B SR T R, S
(4) wrors qon eute RRRE ¥ 9REN, weR e g e

Political awareness, social security and inclusion

Public health, ‘education and literacy

Maintaining ecological balances and protecting environment

Rendering, sponsoring and donating to social and charitable activities

PHD/URS-EE-DEC-2022 ( Commercé) Code-;)
; ‘ ‘ (16)
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42.

Which of the following is/are the type/s of ‘bumping?

(1) Predatory dumping (2) Sporadic dumping

(3) Persistent dumping (4) All of the above

ﬁwﬁf@aﬁ%aﬁq—m/ﬁgﬁdvm/%m%?
(D) RS sy (2) fBeye sfgT
() M= sfy @) 9w

43. | Who propose the concept of International Trade Organisation?

(1) John Maynard Keynes and White

©) Jobn Ratans” ™

(3) A.Marshal

(4) Adam Smith
wﬁ@awwaﬁm&mmﬁwﬁaaﬁ?
(1) S A€ S qU1 @B

(2) S &R

(3) U. =k

(4) wA oy

 PHD/URS EEDEC2022 (COmmer((;?[; CodeD
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44. | In foreign trade, an adverse balance of tra
(1) Import exceeds exports

(2) Export is equal to import

(8) Export exceeds import

(4) None of the above

Rl amw 3, ﬁqﬁawwaﬁta&?%
(1) o frafg @ ofteE e 8

2) Frafd o[ RER B §

(3) Fralq o @ o 8 8

(4) ST 7 q 3 T

de means:

Code-p
uestion QuestiOﬁS ‘ ' ol

45. | Which of the following is a form of IFDI?

(1) establishment a wholly new operation

(2) acquiring an existing firm

(38) merging with an existing firm

(4) all of the above = .
ﬁmﬁiﬁaﬁﬁﬁq—wwsﬁmﬁwww%
(1) % i T A e

(2) T P B A SHRRET B

() w FEEE B & WY R e

4) ST e

PHD/URS—EE—DEC—2022 (Commerce) Code-D -
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46.

What is the full form of ASEAN? :

(1) Association of South East Asian Nations

(@  Administration of Southern East Asian Nations
(3) Organisation of South East Asian Nations

(4) Administr ration of South East Asian Natlons

: W(ASEAN)W@WW%?

(1) TR o ey § REE A

(2) TSENEIE ot got S oRE
(3) SRR % wod S e Jar
(4) TSI oiff Wrey d R A

47.

Which of the following is the correct full form of NAFTA?
(1) North American Free Trade ‘Agreement

(2) National Federation on Free Trade Agreement
(3) National Free Trade Association

(4) None of the above

o & @ aig-ar e (NAI‘TA)EBT guf I B
() T ARHT A (s Tt

(2) e BORAT oA H%’r ?‘e-' Qlﬁfl?

| (3) A i‘s’ Q@ﬁm

@) :ﬂﬁ?ﬁﬁ@(ﬁ%‘ﬂﬁ

PHDIURS—EE—DEC 2022 (Commerce) Code-D
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48. | TRIMS stands for:
(1) Trade Related Income Measure

(2) Trade Related Investment Measure
(8) Trans National Investment and Monetary System

(4) Trade Restrictions on Investment, Measures

&g (TRIMS) %1 ard @ :

@ 33 RAs a9 a9X

(2 3 RIS FAEA= T}
(3) T AW AT T3 AHel fed
@) T WsaEw AN g o

49.

The Term Dumping refers to :

(1) Reducing tariffs

(2) Sale of goods abroad at a lower price, below their cost and price in

their home market

(8) Buying goods at low prices abroad and selling at higher prices locally

(4) Expensive goods selling for low prices

ST = ST A B
(1) g B FA U

(2) axgell @ RRW § P FNd W R SR ISR F S AT qdn b

q B

3) mﬁﬁﬁhﬁammwaﬁwwwﬁumémﬁmwm
@ q@ﬁaﬁaﬁ?ﬁrmwwm .

PHD/URS—EE—DEC—2022 (Commerce) Code-D
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50. | InInternational Trade which of the following is a non-tariff trade barrier?
(1) Quotas (2) - Import bans
(3 Export controls (4) Antidumpinglaws
TR AR § P § § #9-a1 R-ge R o 87
(1) Prer @) AW SRE
(3) M Fre (@) -SRI
51. | The values of extreme items do not influence the average for
(1) Mean (2) Mode
(3) Median il (4) None of the above
I G BN AN ..o 3G B S & FATN
(1) =& ‘ (2) sgaAH
(3) wifemeRr ' 4) W & | 5 &
52. | In a negatively skewed distribution :

(1) Mean>Mode>Median (2) Mode>Median>Mean
(3) Mean>Median>Mode " (4) Mode>Median>Mean
o FOTEF W A R R #

(1) e > Tgus > AeEH

(2) Fgas > HIfeHH > A

(3) A > A > TgE

() g > A > A

L
i

oy PHD/URS_EE_DEC-2022 (Commerce) Code-D*
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63.

1 between the ages of Husband and Wife at
was noted to be 0.6.

he silver jubilee of
will be :

The Coefficient of Correlatio
the time of marriage for a given set of 100 couples
Assume that all these couples survive to celebrate t .
their marriage. The coefficient of correlation at that point of time
2 will increase

(1) will remain unchanged
(4) none of the above

(8) will decrease
100 NSt & wh RY W agea & fEe B @ T
HEE F 0.6 YT T | A e 6 A @l Y o1
TR & RC ShiRe ted ¥ 3@ @ W dewed T
(1) SUREfdq B (2) T

(8) TFMebosilz e L (4) Sugw H q Fg I

uelt @ og & TA
Rare 1 i =i

54.

What is the name of the event for which the probability is zero?
(1) Impossible event 2) Raﬁdom even '

(3) Exhaustive events (4) Mutual exclusive events

SH AT M A & i miemar ekl 87

(1) orE™Hg el (2) Frgfe® g
(3) Tl e (4) TIER g geAd

55.

| @ whar FresH (4) WRa aRRes Fas

Which of the following is not a type of non-probability sampling?
(1) Quotasampling

(2) Convenience sampling

(3) Snowball sampling |

(4) -Stratified random sampling

Frfifag 3§ & B-ar - e @ @ SR aE) 3

(1) e Prd (2 gher Rt

PHD/URS—EE—DEC—2022 (Commerce) Code-D
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56. | In what type of research, the researcher usually uses facts or information

already available?

(1) Analytical (2) Descriptive
(3) Applied (4) Distinctive
b 99R % STEM ¥, aaﬂmﬁaﬁfm TR ¥ ST q S R
SANT T 87

(1) faemEs @) e
(3) STHgm (4) RRe
57. | Which of the following are non-parametric statistics?
(a) t-test
(b) F-test

(c) Spearman's rank order correlation

(d) Mann-Whitney-Wilcoxon test i

(e) Kendall Coefficient of Concordance

Choose the correct answer from the 6ption' given below :

(1) a,bandconly (2 b,canddonly
@B b,d and e only (4) c,dand e only »
frefefad & $i-8 IR-TEfie qOEeT 87

(a) <-9ET

(b) TH-G{ET

() mﬁqmaﬁﬁmmﬂ
(d) TF-fegei-facrpiera Tl
(e) o H FHEU ToNiH

S5 Ru 7o Reed # § @8 W # T4 S
(1) %ad a, b T ¢ (2) 3ad b, ¢ T d
(3) %ad b, d T e (4) 3T c, d T e

 PHD/URS-BE-DEC-2022 (Commexce) Code-D
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68.

Report are often used to display the result of :
(2 Investigation

(® Inquiry (4) All of these
R e Preifefe a1 afem Ry 3 Rig 5w 20 € ¢

(1) Experiment

-

1) & @ @
® = @ vEE
59. | Skewness of Normal distribution is :
(1) Negative (2) Positive
(3) Zero (4) Undefined
ST R S R & Y
(1) FTT @) NS
@ I (@) SR
60. | The correlation for the values of two variables moving in the same direction
is :
(1) Perfect positive @) Negative
®) Positive (4) No correlation
o Rem & 70 FX @ A T F A H gEE Ao @
O e @ e
| @ wwm @ Y sewey T

 PHD/URS-EE-DEC-2022 (Commerce) Code D
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61. | The full form of NSDL in Economic Dictionary is :

(1) National Securities Depository Limited
(2 National Share Depository Limited

(8) National Securities Developmént Limited
(4) National Share Development Limited
STiE =T § NSDL & o o1 ¢ :

Q) A RFERdS el [fcs

@ FW IR Rabed fifvs

@) A RFRERES Sqamw fifes

@) A PR ST [Aes

Which of the following is not the feature of Indian Capital Market?

62.
(1) Government rules and regulations

(2) Utilizes intermediaries
(3) Link between sagrer and investment opportunities

(4) Co-promotes state Jevel venture funds

Prfifg & @ B SR ol IR @ o R T@ 87
(1) Feard Frm @ fafE |

) qwaﬁq%aqyaﬁmaqa‘mm%

3) e @ FRY ol & 99 &

@) m,mﬂqvﬁf@ﬂmﬁa@-mﬁﬁm%

 PHD/URS-EE-DEC-2022 (Commerce) Code-D
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63. | Cash flow statement considers following parameters :
(1) Operating activities (2) Financing activities
(3) Investing activities @ . All of thé above .
T e Rreer Rreifed Aoeedt o et HRr E
(1) uReme wRRRE (2 Rrig aRiffRE
3) Magr wffafeEr '(4) sugwh a+l
64. | Dividends pér share divided by earning per share 1s termed as
(1) Earning per share ratio (2) Proposed dividend ratio
3) Dividénd payout ratio (D) Expected dividend ratio
Hﬁ‘rafsrmsfé?rﬁi%%ﬂa?mﬁméww%. ;
1) iy st g eagma (2) uxQTE ATHIRT ST
(3) AT IO ST 4 SRR ST T
65. Quick Ratio is avtlso>knowf1 as~: 7

(1) Current Ratio @ Acid-test Ratio
(3 CashRatio () Solvency Ratio
AR ST A § W A A S o @
) =g eTga @ orT Tl .qucha

(8 THE AU (4) M emar STgu

PHD/URS—EE-—DEC—2022 (Commerce) Code-D
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' 66.

Profit margin is measured by :

(1) Operating efficiency

(2) Asset use efficiency

(8) TFinancial policy

(4) Dividend policy

N A A S ¥

Q) e H g (2) wER SWN e 8
Q) g Sy s (4) ™I A ER

67.

The process of planning and managing a firm's long-term investments is
called : :

(1) Capital Structuring

(@) Capital Rationing ol

(3) Capital Budgeting

(4) Working Capital Management

w5 & B FERA PR 3 FASH e B e Fe ¥
(1) ol we

(2) ol Srgaa

@) Tl e

(4) FEdd Gt Je

: "_PHDIURS-—EE—DEC——2022‘ (Commerce) Code-D
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68.

The Country of North Korea has a dictator that makes all the economic
decisions. What type of economy is this :

(1) Traditional (2) Command

(3) Market ~*(4) Centrally Planned

wm%erﬁwsna%aﬁwﬁaﬂﬁ%ﬁﬁaam%l%mwﬁaw
27 :

@) TR () S
(3 T (@) e w9 @ FaRE

69.

Which of the following is not the.partv- of privatisation routes?
1) Lease' -

2 Management employee buy-out

(38) Concessions

4 Libera]isation

Pt 3 @ B-a1 Ffee & @ o 7 %7

W W

(@) Yo FHeh B GG

@ Rt '

@ W‘ﬁEbTUT

PHD/URS—EE—DEC—2022 (Commerce) Code-D
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70. Which of the following is not the part of fiscal po]icy?

(1) Taxation .
(2) Public Borrowing
(8) Forced Savings
(4) Open Market Operation
ﬁﬂﬁi@aﬁﬁﬁq—mmﬁﬁq%wmﬂﬁé?
(1) FHRYer
@) WESE T
(8) @ =K
(4 T T 3 e

71. | Who are pa1d last, in the order of payment by the liquidator?

(1) Preference shareholders

(2) Unsecured creditors

(3) Equity shareholders

(4) Debenture

PR &)1 T R TR & wA § Rewe o A e R o 82
(1) gaiftErR g (2) SERRE ATRR '

(3) g SigrEmd (@) WO

'PRD/ORS BE-DEC-2022 (Commerce) Code-D.
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72.

" . ) ; e in current asset
When current ratio is 2:1 and if there 1s equal 1ncreas

and current liability then it will result in:
(1) Decrease in Current Ratio

(2} Tncroase in Glizvent Ratio,

(3) No Change

(4) None of the above

ST ST ST 2:1% e AR g e e < Rl 7 W gRE e §
S RO & |

@, g o ¥
@ = s i 9t
(3) ®is URecy el

@) g P T

73.

Com'parison of financial statements highh'ghts the trend of the of

.

the business. 5

(1) Financial position (2) Performance
(3) Profitability (4) All of the above

Rl fraRont @ e FHaaE B e 1 99T O ST STl ¥
OV fdfm Rafr 0 (@) FSIRE

@ aEE ) S

- (30)

;ﬁ PHD/URS—EE—DEC—ZOZZ (C(;mmeice) Code-D



Set-X

Code-D
estion TR
QuNo. Questions
\
74.

Whi§h of the following is not an objective of Analysis of Financial Statement?
D
@
3
@

To judge the financial health of the firm

To judge the short term and long term liquidity position of the firm
To judge the reasons for the change in the profitability of the firm

To judge the var1at1ons In the accountmg practices of the business
followed by different enterpnses |

ﬁwﬁrﬁ@qﬁ%%ﬁw—mﬁﬁqﬁaﬁ%ﬁﬁwwwaﬁmﬁ%
(1)%#%%@%@%%% |

(2) Wéﬁﬂ%ﬁﬂ?@%&hﬁmﬁaﬁzﬁrwm
@) B T § Rl B e W o don

@) Wmmmw%mmﬁﬁﬁﬁwﬁmw
&

75.

Under acquisition accounting fair value of asset will be the :

(1) Best Price = 2 Sale;v_al_ue
(3) Cost paid for asset  (4) Marketvalue
AR % SFRFT TR B AEiE S| g @
(1) T g

@2 o T

6D B L e B 5 s
(4) S A

; PHDfURS—EE—DEC—2022 (Commerce) C“ode-D
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INO. .
_ Sheet pecause of :

Liability side of 2 Balance

76. | Capitalisshownin
(1) Going concern concept

(2) Separate Legal Entity Conce’pt‘

(3) Asperlaw ; P

(4) None of the above
@ﬁma@%aﬁamﬁmmw%mmm%‘
1) I FIEE SAGERM

(2) TUS i SARaE g

(3) Rt mEaFl & TFER

(4 S9gw 7§ FE T

hile calculating marginal

Which of the following assumptions are made W
cost?

(1) Total fixed cost is constant at all levels of output
6

3
(4) All of the above

S AT & T B g e § @ Be-dr A JE S 82
(1) TEET & SaF &K W REY @ erRaRi e § '
(2 FA IRadLa A S S AR & STFER URafid Bl ¥

(3) @ B g gedl H REX 9 URecHediel gehl F |fer S G 8

(4 SIHH qH

Total variable cost varies according to the volume of output

All elements of cost can be divided into fixed and variable components

PHD/URS-EE-DEC-2022 (Commerce) Code-D
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78.

The term 'Contribution' refers to the

(1) Excess of selling price over variable cost per unit

(2) Difference between the selling price and total cost

(8) Subscription towards raising capital ]

(4) None of the above

R 9= T BA R L |

(D) s $hR RacHee arE B ot Red g & et S
@ T T 9 &9 OTE @ T ewR

(3) Il M & R iR

4) STE F ¥ B T

79.

All agreéments are contracts if they are made by the :
(1) free consent of parties competent to contract

(2) for alawful consideration and with a lawful object
(8) are not hereby expressly declared to be void

(4) all of these _

T oy Wi B AR EC ISR
(1) €ieEr S A GEHRI & @A wentd

(@) i IgEeT B Y A qeis Hfwa & R

3) I we &y A Fd R T R W &

@ T & wd

PHD/URS-EE-DEC-2022 (Commerce) Code-D

(33)




Question
No.

S0.

1i hed‘?h
How a partnership firm can be establis

(1) By Agreement
(2) By registration by statute
(8) Both (1) and (2)

(4) None of these
@m@mﬁwﬁ%@rwﬁﬁaﬁm%?ﬁ%?
1) TEEId &

@ R g dofier & W q

@) (1) T (2)

@ T 9 BB T

81.

What exactly do you mean when you say "under ideal competition in the

product ma1ket“‘7 -

(1) MRP=VMP (V alue of Ma1g1na1 Product)

(2) MRP>VMP

(3) VMP>MRP

(4) None of the above

qreqd I o A SIREE B B 9 oY e § IR IR A ofresl SiRde
T & efw@a’? _ ’
() MRP = VMP (el S 71 1)

(2 MRP>VMP ' '

(3) VMP>MRP

@ wé,?n' X q F8 T

PHD/URS—EE—-DEC—2022 (Commerce) Code-D
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82.

What do you mean by the supply of gc;ods?
(1) The actual production of the goods
(2) Total stock in the warehouse

(8) Stock available for sale

(4) Quantity of the goods offered for sale at a particular price per unit
of time

aegell @ oMyR A Fr ¥

(1) a&gatl 1 arias SR

@ W 5w _E

@) Re & R oww wiF

@ S T O o Wl A ReR 3 S el @ AEr

83.

What is the meaning of the law of demand?

(1) As the price rises, the quantity demanded rirses.
(2) As the supply rises, the demand rises.

(3) As the price rises, the quantity demanded falls.
(4) As the quantity aemanded rises, the price rises.
g & Frmr & @ o §? ‘

(1) mﬁﬂﬁaﬁ%ﬁqﬂﬁwwm%l

@ o o Ted B @ A e ¥

@) o B T 3 A A A e ¥

@ mmwﬁwwwﬁ%ammﬁl

| PHDIURS—EE—DEC 2022 (Commerce) Code-D
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84. | In the case of perfect elasticity, the demand curve 15
(1), Vol (2) Horizontal
(3) Flat 4 Steep
1) @=ag @) &R
@ = (4 T @ A

85. | Perfect competition is characterized by :
(1) large number of buyers and sellers
(2) homogeneous product
(3) free entry and exit of firms
(4) all of the above
9o ofeditmer & fadm &
(1) anet Fan fEae # 23 e
(2) TI=Y TR
(3) ®Hl F Y H3IT a1 ST
4) T

86. | The proportionate change in the quantity demanded of a commodity in
response to change in the price of another related commodity is called :
(1) Price elasticity (2) Related elasticity
(3) Cross elasticity (4) Income elasticity
T agg F AT T A m@?ﬁﬁﬁmﬁ%%mgm
Ui IRac FHeard @ ¢
1) FHa a= (2) FEra A
3 o (4) o @

PHD/URS-EE-DEC-2022 (Commerce) Code-D SANIRT
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87. | The short run production function s called :
(1) Returns to scale
(2) Law of variable proportion
(3) Production possibility frontier
(4) None of these !
SRR IqET %Y hed ©
W ¥R SR
(2) uRexAsi| Bﬂcﬂ?ﬁ k2l ﬁﬁm
(3) TR T ?ﬂm
@ T 9 F5 T
88. | Whenever is greater than average total cost, average total cost
is rising.
(1) Variablecost (2) Marginal cost
(3) Fixed cpst =L . (4) Fullcost
A A A A @ S Bl § @ ol g A S T AR
¢l | |
Q) wReT A (@) G e
@) Rat @ @ T arm

" PHD/URS-EE-DEC-2022 (Commer(c% Code-D
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89.

Which one of the following is not & reason fo

Strategy? .
iV i tic
is relatlvely inelas

(1) When the demand of new product

(2) When there are no close substitutes

(3) Elasticity of demand is not known
icity in the initial stage

(4) Product has high price elastic
F-44
ﬁﬂ%@ﬁﬁéﬁq—m%ﬁmwwﬁﬁmﬁmwﬁ%-

(1) W@maﬁﬁvmw@a@ama?ﬁ%l
&) aﬁfﬁ%‘ﬁwwﬁmﬂmﬂwﬁ@?ﬂ |

3 Wﬂ%?ﬁ'ﬂaﬁﬁé’faﬁr
4) mﬁ%mﬁwﬁﬁaﬁwﬁa@?ﬁ%

90.

Functional relat10nsh1p between 1nput and output known as:

1) Conversmn
2 Productioﬁ funcﬁon

(3) Work in progfese |

(4) Output function

STT-Ft & TeT FrEe W B w9 o o
(2) SUEA s

(4) PR e

(1) @I
3 aﬁmﬁ

PHD/URS—EE—DEC—2022 (Commerce) Code-D
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91.

N »M\re
Who gave the concept of Markoting Myopia?

(1)  Abraham Maslow
(@ Peter Druckoy
(8) Theodore Levitt
(4) Philip Kotler

qﬁﬁw.’?@ﬁmﬁmmwm‘ﬂ}?
1) omEw ) e g
3) RAER AR (4) ffra Prea

92,

Need is defined as :

(1) Requirement of basic necessities

(2) State of felt deprivation

(8) Desire to have something

4) A11> of the above |
SMaSTHAT H 39 & § uftenfia fear s e ®
(1) T ST B R

(2) STE S H T

©® T A

(4) S TN
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98.

Which of thesoe is true about markoting?
d services

(1) Marketing is used to promote tho product an

(2) Marketing is concerned about tho sales only

(8) Marketing is the uctlvn,y get of institul
creating, commumcatmg, delivering,

at large.
have value of customers, clients, patterns and society

the organization and not the

(4) Marketing considers only the needs of

society

W%Wﬁﬁﬁﬁf@ﬁﬁﬁ?ﬁ?—ww%?
1) fawmasrwvmaamﬁ%wh%mmm%

2 RIqor e Rl & TRy @ e ‘ |
3 RO 78 TR, G B age ae S, WW#,WW
m@%ﬁ—%mﬁqﬁm%ﬁﬁm@aﬁﬁfmwm%m

9F ©Y § TAH © |
4) ﬁw%aawa%msmaﬂwmm%amwmaﬁ

94.

Strateglc Marketlng Planmng must begm with :

(1) Short term targets (2) Goals

(38) Mission Statement (4) ObJect1ve

WWWWWH'@WET%Q
(1) SRR SR & wy (2) T B WA
(3) fgr ®a & A (4) TS IR B WY
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96.

Line Extonsion is n concept related with :

(1) Marketing Mix (2) Product Mix
(3) Promotion Mix (4) Media Mix
WIET CHRIEA ) srauren wrfe ¥

(1) Ruor freor @ 2) S fraer @
(3) wadw Rrgor @ (4) Hfear g §

96.

Which of the following describes "diversification"?
(1) New products in new markets |

(2) New products in existing markets

(3) Existing products in an existing market

(4) Existing products in new markets
Frfafad & @ se-ar Rfedewer @ amen Fwa 87
(1) - aemd § 74 S

@) fEAe aert & 74 IdE

(3) faemm X & faegme 3w

@4) 73 IERI A e S

97.

In Modern Times Marketing revolves around :

(1) Wantsof the Consumer (2) Needs of the Consumer

(3) Products (4) Services

smgfs @ H favr goe = oY g @
(1) Sydrm & el & (2) SUd @ Smavadhel &

(8) TE % (4) QarsTt &
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Which of the following is included in D1g1

 ital Marketing?

1) Promotional Strategy (2) Pricing Strategy

3) Tactlcs (4) None of the above

Wﬁﬁ%ﬁﬂﬁwmﬁmw%
1) Haahruﬁﬁ?f | 2 T feRer vy
® gﬁﬁﬁ ‘ (4) 9 & ¥ B T

98.
(1) E-mail Marketing (9) Social Media Marketing
() Web Marketing (&) Allofthe abov®
mﬁmﬁam-w%mmﬁm%?
(1) A AR ) G A AT
99. | Who has the biggest market share in E-Commerce?
(1) Flipkart (2) Google
(8) Alibaba (4) Amazon
R i s‘—zﬁmﬁ T o i e ¥
1) ﬁﬂqifﬂ't‘ @ TR
(3) orefar (4) TS
100. 'Skimming; in marketing is known as
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